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Ratio & Proportion Short Tricks & Questions with
solutions

Ratio & Proportion is very important for all competitive exams generally 1-2 questions comes
from this topic in maximum exams. So we are here providing you the concepts and important
short tricks to solve Ratio & Proportion in very fast and efficient way. At the end we will provide
few practice questions also apply the trick on those and see that you have got the trick or not.

Here we are providing some cases of Ratio & Proportion and tricks to solve it. Hope this would
be helpful to all aspirants.

Ratio and proportion shortcuts
Hint 1:
a/bisthe ratioofatob . Thatis a:b
Hint 2:
When two ratios are equal, they are said to be in proportion.
Example:
If a:b = c:d, then a,b,c & d are proportion.
Hint 3:
Cross product rule in proportion:
Product of extremes = Product of means.
Example:
Let us consider the proportion a:b = c:d
Extremes =a & d, means=b &c

Then, as per the cross product rule, we have
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Hint 4:
Inverse ratios:
b:a is the inverse ratio of a:b and vice versa.
That is, a:b & b:a are the two ratios inverse to each other.
Hint 5:
Verification of inverse ratios:
If two ratios are inverse to each other, then their product must be 1.
That is, a:b & b:a are two ratios inverse to each other.
Then, (a:b)X(b:a) = (a/b)X(b/a) = ab/ab =1

Hint 6:

If the ratio of two quantities is given and we want to get the original quantities, we have to

“_.»

multiply both the terms of the ratio by some constant, say “x”.

Example:

The ratio of earnings of two persons is 3:4.
Then,
the earning of the first person = 3x
the earning of the second person = 4x
Hint 7:
If we want compare any two ratios, first we have to express the given ratios as fractions.

Then, we have to make them to be like fractions.
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That is, we have to convert the fractions to have same denominators.
Example:
Compare: 3:5 and 4:7.
First, let us write the ratios 3:5 and 4:7 as fractions.
That is 3/5 and 4/7.

The above two fractions do not have the same denominators. Let us make them to be same.
For that, we have to find L.C.M of the denominators (5,7).
That is, 5X7 = 35. We have to make each denominator as 35.
Then the fractions will be 21/35 and 20/35.

Now compare the numerators 21 and 20.

21 is greater.

So the first fraction is greater.

Hence the first ratio 3:5 is greater than 4:7.

Hint 8:

If two ratios P:Q and Q:R are given and we want to find the ratio P:Q:R, we have to do the
following steps.

First find the common tern in the given two ratios P:Q and Q:R. That is Q.
In both the ratios try to get the same value for “Q".

After having done the above step, take the values corresponding to P, Q, R in the above ratios
and form the ratio P:Q:R.

Example:
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If P:Q =2:3 and Q:R = 4:7, find the ratio P:Q:R.
In the above two ratios, we find “Q” in common.
The value corresponding to Q in the first ratio is 3 and in the second ratio is 4.
L.C.M of (3, 4) = 12.
So, if multiply the first ratio by 4 and second by 3,
we get P:Q =8:12 and Q:R =12:21
Now we have same value (12) for “Q” in both the ratios.
Now the values corresponding to P, Q & R are 8, 12 & 21.
Hence the ratio P:Q:R = 8:12:21
Hint 9:

If the ratio of speeds of two vehicles in the ratio a:b, then time taken ratio of the two vehicles
would be b:a.

Example:

The ratio of speeds of two vehicles is 2:3. Then time taken ratio of the two vehicles to cover the
same distance would be 3:2.

Hint 10:

If the ratio of speeds of two vehicles in the ratio a:b, then the distance covered ratio in the same
amount of time would also be a:b.

Example:

The ratio of speeds of two vehicles is 2:3. Each vehicle is given one hour time. Then, the distance
covered by the two vehicles would be in the ratio 2:3.

Hint 11:
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If A is twice as good as B, then the work completed ratio of A and B in the same amount of time
would be 2:1.

Example:

Ais twice as good as B and each given 1 hour time. If A completes 2 unit of work in 1 hour, then
B will complete 1 unit of work in one hour.

Hint 12:

If A is twice as good as B, then the tame taken ratio of A and B to do the same work would be
1:2.

Example:

A'is twice as good as B and each given the same amount of work to complete. If A takes 1 hour to
complete the work, then B will take 2 hours to complete the same work.

Hint 13:

“_ 9

If “m” kg of one kind costing $a per kg is mixed with “n” kg of another kind costing $b per kg,

then the price of the mixture would be $ (ma+nb)/(m+n) per kg.

Hint 14:
If one quantity increased or decreases in the ratio a:b,
then the new quantity is = “b” of the original quantity/a
More clearly, new quantity = (“b”" X original quantity) / a
Example:
David weighs 56 kg. If he reduces his weight in the ratio 7:6, find his new weight.
New weight = (6 X 56) / 7 = 48 kg.
Hence, David’s new weight = 48 kg.

RATIO:
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Ratio can be simply said as fractions. A number which is written as a fraction. Then, the

Ratio’s specified is not the exact value and it is the multiples of the value specified.

Ratio compares 2 numbers and they should be of the same unit

The reciprocal of the same number is not same ie (4/3) is not equal to(3/4)

Example:

4 The value is Multiples of 4

3 The value is Multiples of 3

#1.TYPE 1:
BASIC PROBLEMS:

This is Basic type of questions in Ratio and Proportion,In this type Question contains Individual
Ratio/Total Ratio and Individual Value/Total Value then,you will be asked to find the Ratio or
Value.Since these type of questions are basic questions,and they can used in any other topic

1.1f a certain sum of money is distributed among A and B in the ratio 4:3 and B gets
Rs.3000,then what is total money distributed?

Explanation:

A B A+B

4X 3X TX

3x=3000 x=1000

Total money distributed =7x=7*1000=Rs.7000

2.1f a certain task is distributed among A,B,C and D in the ratio 2:5:7:9 in 1 day then D
performs 1800 task in 1 day. Then how many task is completed for 2day when A and B works?

Explanation:
D=9x=1800
x=200.
A and B when combines in 1 day they does = 2x+5x=7x
7*200=1400
For 2 days they complete 1400*2=2800 task.
#2.TYPE 2:
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BASED ON EFFICIENCY:

In this type efficiency of the Person is given and the ratio were also given we have to find the
new ratio.Tricks and Tips to solve the Problem based on Efficiency.

1.Seats for mathematics, physics and biology in a school are in the ratio 5:7:8.There is a
proposal to increase these seats by 40%,50% and 75% respectively. What will be the ratio of
increased seats?

Explanation:

The ratio’s are 5x:7x:8x let X=10 then,
Mathematics=50 Physics =70 Biology=80

Then Increased Percentage be 40%,50% and 75%:
10% of 50=5 then 140% of 50=70

10% of 70=7 then 150% Of 70=105

10%of 80=8 then 175% of 80=140
Mathematics=70 Physics =105 Biology=140

Their increased ratio=2:3:4

# 3. TYPE 3:
FORMATION OF NEW RATIO’S:

This type of Problem consists of two Ratio’s and we asked to find a new ratio.These type of
questions can be asked in Partnership Problems

1.1f a:b=2:3 and b:c=2:4 then a:h:c=?

Explanation:

Therefore the new Ratio=2:3:6

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

2.1fa:b=2:3 and b:c= 2:4 and c:d= 4:2then a:b:c:d=?

Explanation:

: D=2%2%4: 3¥2%4: 3¥4%4:3%4%2

=16 : 24 : 48 : 24

Therefore,the new Ratio is 2:3:6:3

PROPORTIONS:
The Equality Of Two Ratios Is Called Proportions.

Proportion has basically 5 types,Questions asked in IBPS Exams are nowadays with high
difficulty,So, to solve all the difficult problem we should know how to solve the basic
problems.Here we have covered all the basic Problem and its types and Shortcut method for
solving all the basic Problems

That is:
AB.CD=Poporbons  Here A D=citemes B C=means
«\L' /

Ratin's

Rule:

- Product of Extremes=Product of means

A'D=B'C
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If X=KY, K=constant then X is directly proportional toY
XY=K, then X is inversely proportional to Y.
#1.TYPE 1:
FINDING NUMBER OF PERSON:

These type of question in Proportionality are the basic type and we can solve these type
of problems by two methods

1.Method 1:Solving by equations
2.Method 2:Shortcut Method

1.A Sum Of Rs.312 Is To Be Distributed Among 100 Boys And Girls Such That If Each Boy Gets
Rs.3.60 And Each Girl Gets Rs.2.40 Then Find How Many Number Of Boys In The Class?
Explanation:

Let there be X boys in the class and Y girls in the girls
X+Y=100

3.6X+2.4Y=312

By solving 1 & 2 we get X=60 and Y=40

The number of boys present in the class=60

Shortcut Method:

Boys Girls

3.60 2.40

3 2

100*(3/5)=60.The number of Boys=60

#.2 TYPE 2:
BASED ON ADDITION/SUBTRACTION OF QUANTITY:

1In A 80 Litre Of Solution Containing Milk And Water In The Ratio 2:3.How Much Milk Should
Be Added To The Solution So That The New Ratio Becomes 4:1?
Explanation:
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/!
\ 3x water—*<§

The new ratio is 4:1 that means only water is added to the solution which means that the water
in the solution remains constant in the new ratio also

dxmilk 12

80

Therefore 1x=48litre

4x=192 litre where as the solution already contain 32 litre therefore we should add 160litres of
milk

2.In A 60 Litres Mixture Of Milk And Water The Ratio Of Milk And Water Is 7:5.How Much
Water Should Be Added In The Mixture So That The Ratio Of Milk To Water Becomes 5:7?
Explanation:

Mixture 60

Milk Water

7x=355%x=25

Milk is not added and kept as it is so 5x=35 X=7 there by 7x=7*7=49

Already there is 25litres of water in the mixture so additionally we need to add 24 litres of water
#3 TYPE 3:

BASED ON EQUALITY:
If the original ratio a:b

Duplicate Ratio:a?:b?

Sub Duplicate Ratio: Va:\b
Triplicate Ratio: a3:b3

Sub Triplicate Ratio:a”(1/3):b”(1/3)

1.If Twice A Is Equal To 3b And That Is Equal To 5 Times Of C.Then Find A:b:c?
Explanation:

LCM of 2,3,5=30
a:b:c=30/2:30/3:30/5
=15:10:6
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2.If The Sub Duplicate Ratio Of A:b=2:3.Then Find The Triplicate Ratio Of A:b?
Explanation:

Va:Nb=2/3
a:h=4/9
a3:b3=64/729

3.A Hound Pursues A Hare And Takes 6 Leaps Foe Every 9 Leaps Of The Hare,But 3 Leaps Of
The Hound Are Equal To 5leaps Of The Hare.Compare The Rates Of The Hound And The
Hare?

Explanation:

Given:

Hound Hare

6L oL
3Hound=5Hare
Hound=(5/3)Hare

Rates of Hound:Rates of Hare

6*G/3)L : 9L

10:9

Some important points:

1) If ratio is written as A:B, it is said to be a linear form and in case it is written as A/B, it is said
to be fractional form.

2) Ratio does not have any unit. It is mere number.

3) The equality of two ratios is known as proportion i.e. a/b = c/d

If a/b =c/d, then it is also equal to a+c/b+d

Invertendo : If a/b = c/d , then b/a = d/c

Alterendo : If a/b = c/d , then a/c = b/d

Componendo : If a/b = c/d , then a+b/b = c+d/d

Dividendo : If a/b = c/d , then a-b/b = c-d/d

Componendo and Dividendo : If a/b = c/d , then a+b/a-b = c+d/c-d
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4) If a/lb =b/c =c/d =...... so on, then a,b,c,d... are in G.P.

Proof: Let a/b = b/c = c/d =k
c=dk, b= ck, a= bk

Therefore, b= dk"2 and a= dk"2
All are in G.P.

5) If a>b and same positive number is added to each term, then ratio decreases.
For example: a/b = 4/3 = 1.3, If 2 is added to each term, then a/b = 4+2/3+2 =6/5=1.2
Therefore, ratio decreases.

6) If a<b and same positive number is added to each term, then ratio increases.
For example: a/b = 3/4 = 0.7, If 2 is added to each term, then a/b = 3+2/4+2 =5/6 = 0.8
Therefore, ratio increases.

7) If we multiply or divide any number, there will be no effect on ratio.
8) Let a:b is a ratio

a”2:b"2 is duplicate ratio of a:b
a™3:b"3 is triplicate ratio of a:b
a™1/2:b"1/2 is sub-duplicate ratio of a:b
a™1/3:b"1/3 is sub-triplicate ratio of a:b

9) Proportions i.e. a:b = c:d

a and d are known to be extremes

b and c are known to be means.

10) In a:b :: c:d, d is fourth proportional to a,b and c.

11) If x is third proportional to a,b then it is written as a:b :: b:x.

Ratio And Proportion Concept

Ratio — It is a way of comparing two numbers or quantities and showing the relationship
between them.

It is denoted by — <’

Ex: In a class, there are 60 boys and 40 girls. What is the ratio of boys and girls?
Sol.: boys=60 and girls=40

Ratio= boys/girls =60/40=3/2=3:2

3:2 means g¥three boys 9v2 girls & I7 & Q@7 st @ler Feir & 13575(i. 3+2=5) students &3
boys &or 2 girls &
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— If boys : girls = 3 : 2 &7 & VFT 8} FleT FHT § farboys=3 or girls=2 @ FTAns. & 7.
Fgifar A7 common factor &rcancel out FY 2IT 8 39 dIg §H3:2 Wg.?ﬂ'é"l

Ffa & boys and girls #rindividual value fA%ererr g &common factor &multiply #¥err glarr
|

that means boys=3x20=60 and girls=2x20=40.here common factor=20 ﬂ?f’-?'\"g??‘common
factor #7ef#r 47 &t #etindividual value /A& Ter farar|

Ff2 7z common factor HTe[T 787 &t at #boys=3x and girls=2x fa@an

Ex: In a class, the ratio of boys and girls is 3:2. If there are total 100 students, then how many
boys and girls in the class.

Solution:

Let boys=3x and girls=2x

Now,

5x=100

x=20

50,boys=3x=3%20=60and girls=2x=2%20=40
Another way:

In 5 (i.e 3+2=5) students there are 3 boys

so, 1 student, there are 3/5 boys

.« In 100 student boys are=(3/5)x100=60 boys
In 5 (i.e 3+2=5) students there are 2 girls

so, 1 student, there are 2/5 girls

.+ In 100 student girls are=(2/5)x100=40 girls
OR

girls=100-60=40 girls

Shortcut:

boys=(3/5)*100=60 boys
Girls=(2/5)=100=40 girls
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Important Point:

= For aratio, the two quantities must be in the same unit.

Ex: Ratio of Rs 5 to Rs 30 here unit=Rs. In this example both quantities unit are same.

So, Ratio=5/30=1:6

Ex-2 Ratio of Rs 5 to 30 paise.

Solution: we can’t express in the form of a ratio. because a unit of both quantities is not same.

if u want to express in the form of a ratio, first of all, make the unit of both quantities are
same ie. Rs 5 to Rs 0.30 or 500 paise to 30 paise.

Rule:

The multiplication or division of each term of a ratio by the same non-zero number does not
effect the ratio.

Ex: 4:5

fﬁﬁ e 8:10=4:5

5 %2

PROPORTION:

If the ratio of the first and second quantities is equal to the ratio of the third and fourth
quantities then it is called proportion.

It is represented by — “::’

i.e if a:b=c:d, we write a:b::c:d and we say that a, b, c, d are in proportional

Here a and d are called extremes while b and c are called mean terms.

Ex: check 6, 10, 48, 80 are in proportional

Solution: 6/10=3/5=3:5

and 48/80=3/5=3:5

so, 6, 10, 48, 80 are in proportional.

= Fourth Proportional: If a:b=c:d, then d is called the fourth proportional to a, b, c.
=Fourth Proportional(d) =(bxc)/a

= Third Proportional: If a:b=b:c, then c is called the third proportional to a and b.

=Third Proportional(c)=b%a
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=Mean Proportional between a and b= Vab.
=Duplicate ratio of a:b=az:b? .
=Sub-duplicate ratio of a:b= Va:\b.
=Triplicate ratio of a:b = a3:b®

A common type of Ratio And Proportion problem that is frequently asked in the various
competitive exam.

(QL)If A:B=2:3 B:C=4:3 Find A:B:C

Solution:

[Concept: A:B and B:C g7 &B common &so glat & &tB #Tratio ﬁwg.ﬂrg'.?#equal
i

A:B B:C

2

:3x4 3x4:3
8:12 12:9
<~ A:B:C=8:12:9 Ans.

2nd Method:

<~ A:B:C=8:12:9 Ans.
(Q2) A:B=2:1 and A:C=1:3 then A:B:C is

Solution:

[Concept: A:B and A:C gl & A common &so glat & &t A #rratio ﬁwg'aﬂ#ﬁequal
-

:C
:3
:6

< A:B:C=2:1:6 Ans.
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(Q3)If A:B=5:2 B:C=2:3 C:D=5:3 find ratio of A:B:C:D="?

Solution:

A:B B:C
2 2:3
|Ratiu of B is samq

50, A:B:C=5:2:3

So, A:B:C:D = 25:10:15:9
Ans.

[Concept: A:B:C and C:D gt #C common &'so glat & atC #rratio Wjﬂ?ﬂequal
et & farws Fmultiply a7 7737 8]

(Q4)If A:B=4:9 and A:C=2:3 then (A+B):(A+C) Is.

Solution:[Concept: A:B and A:C gl & A common &so glaat & a7t A #FTratio 122775'3”?‘3#
equal 9]

A:B A:C
1= 4:9 2x2:3
4:9 4:6

< A:B:C=4:9:6

Now,
(A+B):(A+C)=(4+9):(4+6)=13:10 Ans.
(Q5)If 2A=3B=4C, then A:B:C is.
Solution:

L.C.M of 2,3,4=12

Now,

2A/12 =3B/12 = 4C/12

Al6 =B/4 =C/3
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A:B:C=6:4:3 Ans.

(Q6)If A=(1/4)B and B=(¥)C then A:B:C is

Solution:

A/B=1/4 and B/C=1/2

A:B=1:4 and B:C=1:2

[Concept: A:B and B:C glat #B common &'so gls7l & &1B #7ratio ﬂwgm@"ﬁequal
]

A:B B:C
1:4x1 4x=1:2
1:4 4:8
So, A:B:C=1:4:8 Ans.
(Q7)If A:B=2:3 and B:C=3:7 then (A+B):(B+C):(C+A) is.

Solution:

[Concept: A:B=2:3 B:C=3:7 glal&B common &so gl # 5B #Tratio Wfﬂ?ﬁequal
#7) but in this question ratio of B in both cases are equal ]

< A:B:C=2:3:7

So, (A+B):(B+C):(C+A)=5:10:9 Ans.
(Q8)If x:y=4:5 then (3x+4y):(5x+3y)="?
Solution:

X:y=4:5

xly=4/5

3xty _3x.
5x+3y Y
X 43
':'u
Put the value of x/y then
(3x+4y):(5x+3y)=17:35 Ans.

(Q9)If a:b:c=2:3:4 and 2a-3b+4c=33, then the value of c is.
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Solution:

a:b:c=2:3:4

a2 =b/3 =cld = K(let)

= a=2k, b=3k, and c=4k

Given that 2a-3b+4c=33
=>2x2k-3x3k+4x4k=33

so, k=3

. c=4k=4x3=12 Ans.

(Q10)The fourth proportional to 4, 9, 12 is.
Solution:

Let the fourth proportional to 4, 9, 12 be x.
then 4:9::12:x

Axx=9%x12 (i.e axd=bxc)

= X=27 Ans.

(Q11)The third proportional to 16 and 36 is.
Solution:

Let the third proportional to 16 and 36 be x
then 16:36:36:x

= 16xx=36%36

= X=81 Ans.

(Q12)The mean proportional between 0.08 and 0.18 is.
Solution:

The mean proportional between 0.08 and 0.18=

8 18 _12 _g124
1/0.08x0.18 soTon =ioe =0.12 Ans

100

(Q1)The product of two positive integers is 1575 and their ratio is 9:7. The smaller integer is.

g G131l 1 IOTBeT 1575 & 3N 37T JFTIT9:7 & &l SISt TE&dT 7 )

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

Solution:

Let the integers be 9x and 7x respectively
According to question

Oxx7x = 1575

= x2 = 1575/63=25

=x=5

.« smaller integer=7x=7%x5=35 Ans.

(Q2)Three numbers are in the ratio of 3:2:5 and the sum of their squares are 1862. The smallest
of these number is.

AT GEI3H] T I TIeT 3:2:5 & IR 37 G711 T 1T 1862 &, I T E BIcT F&T 7T ]

Solution:

Let the number be 3x, 2x and 5x respectively
According to question

(3x)2 + (2x)2 + (5x)? = 1862

=38x?=1862

=x?=1862/38=49

=2x=7

.2 The smallest number=2x=2x7=14 Ans.

(Q3)The sum of three numbers is 116. The ratio of second to the third is 9:16 and the first to the
third are 1:4. The second number is.

AT T3 BT VT 116 8] §ERT IR AT TET BT 37T 9:16 N Tgell 3R et a&ar
P IHFTAT 1:4 &, T GERT TEIT 7T |

Solution:
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2nd  3rd st
9 . 16

4 1
36 - 64 - 16
9 16 4

Therefore, the second number=(9/29)x116
=36 Ans.

(Q4)Of the three numbers, the ratio of the first and the second is 8:9 and that of the second and
third is 3:4. If the product of the first and third number is 2400, then the second number is:

AT HEIT3T H Ggelt 3N ZE TEI31T 7 37417 8:9 & 3N Gl & ANt T 37 arcT 3:4 8]
13 qgoft IR JRT FT 0T 2400 &, & GET HET FAIT |

Solution:

1st  2nd  3rd
8 9
3 . 4
27 36
9 12

Let the 1st, 2nd, and 3rd number be 8x, 9x, and 12x respectively
8xx12x=2400

= x2=2400/96 = 25

=Xx=5

2nd number=9x=9x5=45 Ans.

(Q5)what number should be added to each of 6, 14, 18 and 38 so that the resulting numbers
make a proportion?

[ G&IT $1'6, 14, 18, FAT38 Gedeh H SIIST STV I 75 HEITT HHIF IS &1 ST

Option: (1)3 (2) 2 3) 4 (4 1
Solution:

Concept: if a, b, ¢, d are in proportion then a:b::c:d or a:b=c:d or a/b = c¢/d
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Let x is added then
(6+x)/(14+x) = (18+x)/(38+x)
= 228+38X+6X+x% = 252+14X+18X+xX?
= X2+44X+228 = x?+32Xx+252
= 12x=24

=X=2 Ans.

Second Method:

Let x is added then
(6+x)/(14+x) = (18+x)/(38+x)
put the value from option then
(6+2)/(14+2) = (18+2)/(38+2)
= 8/16 = 20/40

=1/2=1/2

(Q6)Three numbers are in the ratio 3:4:5. The sum of the largest and the smallest equals the sum
of the second and 52. the smallest number is.

A FEITT3:4:5 3io7qId & &) Ile Fodl T51 T Fedl DIt G&I137] FT TN GErT &A1 752 3
Z19T 3 SIS & Al HaH SIST HEIT FIT |

Solution:

Let the numbers be 3x, 4x and 5x

Now according to question

5X+3x = 4x+52

= 4x=52

=x=13

.2 Smallest number=3x=3x13=39 Ans.

(Q7)If the square of the sum of two numbers is equal to 4 times of their product, then the ratio of
these numbers is:

[Feet &l G231l & 3197 T §71, 3o7d JUIThe] @ TR et @ SRIK 8, Al TEII3] HT 3 qIcd
FIT 8|
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Solution:

Let the numbers are x and y
Now according to question
(X+y)? = 4xy

= X2 + y2+2Xy = 4xy

= X2 + y2-2xy=0
=(x-y)?=0

S0, X=y

< Xiy=1:1 Ans.

(Q8)The sum of two numbers is equal to 20 and their difference is 25. The ratio of the two
numbers is.

gl F&I3i T TN 20 & 3R 3e7HT IR 25 & Gl T3] AT 71T AT |

Solution:

1st method: Shortcut

20+25 : 20-25

=45:5

=9 :1Ans.

2nd Method: General

Let the numbers are x and y
Now according to question
X+y =25« (1)

Xy =20« (2)

on adding Egn.(1)and (2)
=2x=45

=Xx=22.5

put the value of x in Eqn.(1)
=22.5+y=25
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y=2.5
-+ Required ratio=22.5:2.5 =9:1 Ans

(Q9)If A and B are in the ratio 4:5 and the difference of their squares is 81, what is the value of
A?

FlerA FUTB 4:5 & 3Ho7dic & & 3R 377 aa1f HT 3AX 81 &, &MA BT HIT F1c |
Solution:

Let A=4x and B=5x

Now according to question

(5x)2— (4x)2 =81

=9x2 =81

=x2=81/9=9

=x=3

< A=4x=4x3=12 Ans.

(Q1)The ratio of two numbers is 3:4 and their LCM is 120. The sum of numbers is.

&l HEITT 3:4 & JHoTqIct H & JN 3o7ehT Td HATTIH 120 & I HEII3IT P AT FIeT |

Solution:

Let the numbers be 3x and 4x respectively.

LCM of 3x and 4x=12x

=12x=120

=x=10

.+ Sum of the numbers=3x+4x=7x=7x10=70 Ans.

(Q2)The ratio of two numbers is 3:4 and their HCF is 15. Then the sum of the two numbers is:

g H&TT 3:4 3 79I H & 3N 37T Heei# FHIIG 15 & Fl G137 T F17T 371 )

Solution:
Let the numbers be 3x and 4x respectively.
HCF of 3x and 4x=x

= x=15
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.2 Sum of the two numbers=3x+4x=7x=7x15=105 Ans.

(Q1)In a school having roll strength 286, the ratio of boys and girls is 8:5. If 22 more girls get
admitted into the school, the ratio of boys and girls becomes.

286 ST B Vb Ehel H cI5e] T cT5THd] T T 8:5 8 Tla 22 JiR 51T Epel H GTIEeT
aictl & &1 751 e15133] T AT 31T T R |

Solution:

Let boys=8x and girls=5x

Now, According to the question

8X+5x=286

= X= 286/13 =22

Boys=8x22=176

Girls=5x22=110

No. of girls at present after adding 22 girls=110+22=132
-+ Ratio=176/132=4:3 Ans.

Method-2

Initially number of boys=(8/8+5)x286=(8/13)x286=176
Number of girls=(5/13)x286=110

No. of girls at present after adding 22 girls=110+22=132
-+ Ratio=176/132=4:3 Ans.

(Q2)If there is a reduction in the number of workers in a factory in the ratio 15:11 and an
increment in their wage in the ratio 22:25, then the ratio by which the total wage of the workers
should be decreased is.

Ia U PG H HAGI] T TEAT H 15:11 & Hegqicd H Felcdl g 3R 373 Hoagdr 22:25 3
91T # §eT5 ST I 37! el FCT §5 HTGH HT I 7Tl F1 |

Solution:
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Old : New

No. of
workers 15 1

Wages 22 25

330 - 275
6 : 5Ans

Free Study Material Join: Telegram.me/ExamsCart

(Q3)Two numbers are in the ratio 3:5. By adding 10 to each of them, the new numbers are in the

ratio 5:7. Find the two numbers.

g G&I371 71 391 3:5 8 Ifa edd F&IT H 10 5713 &1 ST &l 37T 3 Icd 5:7 &1 ST &,
T HEITT 7T HY |

Solution: 1st Method: Shortcut
1st Number : 2nd Number

New 5 T

Original 3 5

Difference=2

Now,

2unit=10

lunit=5

1st number=3x5=15

2nd number=5x5=25
Second Method: Shortcut

1st Number : 2nd Number

New 5 T

Original 3 5

Now, cross multiply

(25-21)/7-5 = 4/2=2
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Concept:[ 2 unit #110 unit §&77a97 g9 FFH3 question & IT 10 unit add BT 77 7ET &)
So, 2x5=10

1st number=3x5=15

2nd number=5x5=25

Third Method: General Method
Let the number be 3x and 5x
Now, According to the question
(3x+10)/(5x+10) = 5/7

=2x+70 = 25x+50

=4x=20

<~ X=5

1st number=3x5=15

2nd number=5x5=25

Important Note: S difference same HTTIIT T& AT & type @ question & method-1,2 and

3 f&a? sftmethod & solve F¥ &Ha & v I 39 type Fquestion Hdifference same 7gF
HTOIT A gHenlarmethod-2 and 3 &solve FIa

(Q4)What should be added to each term of the ratio 7:11, so as to make it equal to 3:4?

7:11 3e7qIc B IAh G&IT H & FEIT H1 5157 S0 P HJTIT 3:4 gl 37T

Solution: 1st Method: Shortcut
1st Number : 2nd Number

New 3 4

Original 7 1

Now, cross multiply
(33-28)/4-3 = 5/1=5 Ans.
2 nd Method: General Method

Let the required number be x.
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Now,
(7+x)/(11+x)= 3/4
=28+4x = 33+3x

=x=5 Ans.
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(Q5)Two numbers are in the ratio 4:5 respectively. If each number is subtracted by 25, then the
ratio becomes 3:4. Find the two numbers.

g &I} T A 4:5 8 Tla JedF F&IT H & 25 €T & ST &} 3o7ehT 3 qIcT 3:4 81 STl

& ar g&Ie T FH |
Solution:1st Method: Shortcut
1st Number | 2nd Number
Original 4 2

New 3 4

Difference=1

Now

1unit=25

1st number=4x25=100
2nd number=5x25=125
Second Method: Shortcut

1st Number : 2nd Number
Original 4 2
New 3 4

Now, cross multiply

(16-15)/4-3 = 1/1=1

Concept:[ 1 unit #7125 unit 777 g9 FFH 3 question & IT & 25 unit subtract fFHIT &7 TET
&1l

So, 1x25=25
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1st number=4x25=100

2nd number=5x25=125

Third Method: General Method
Let the number be 4x and 5x
Now, According to the question
(4x-25)/(5%-25) = 3/4

=16x-100 = 15x-75

=X=25

1st number=4x25=100

2nd number=5x25=125

Important Note: 7 difference same HTTaIT T& AT & type @ question & method-1,2 and

3 f&&? sftmethod & solve F¥ &Ha & v I 39 type Fquestion A difference same 7gF
HTUIT A gHenlrmethod-2 and 3 &solve FIa

(Q6)What number should be subtracted from both the terms of the ratio 11:15 so as to make it as
2:3?

11:15 37791 S FE&1371 H e HEIT 1 EISTIT ST 61 3791 2:3 &1 5770

Solution:1st Method: Shortcut
1st Number | 2nd Number
Original 11 15
New 2 3
Now, cross multiply
(33-30)/3-2 = 3/1=3 Ans.
2 nd Method: General Method
Let the required number be x.
Now,
(11-x)/(15-x)=2/3
=33-3x = 30-2X
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=x=3 Ans.

(Q7)The students in three classes are in the ratio 4:6:9. If 12 students are increased in each
class, the ratio changes to 7:9:12. Then the total number of students in the three classes before
the increase is.

AT FETT3T H BT T 391 4:6:9 8| Tlar JedF FH&T H 12 STF §gT &1 ST Al 1T 7:9:12
81 ST &, I YR3AIT H el [Fctet 17 & |

Solution:1st Method: Shortcut
1st : 2nd : 3rd

New 7 9 12 = 28unit

Original 4 (5] 9 =19%9unit
Dff=3 : 3 . 3

Now,

3 unit=12

1 unit=4

Initially the number of students=19 unit=19x4=76 Ans.
2 nd Method: General Method

Let the original number of student be 4x, 6x, and 9x
Now,

(4x+12)/(6x+12)=7/9

= 42x+84 = 36x+108

=6x=24

=x=4

Initially the number of students=19x=19x4=76 Ans.

Important Note: & difference same HTTIIT T& AT & type @ question #method-1 and 2
& sftmethod & solve #¥ @ & 97 71 3@ type @ question Hdifference same 78T Hrwamr
&9 HeNr method-2 &'solve #a

(Q8)The ratio between the boys and girls in a class is 6:5 respectively. If 8 more boys join the
class and two girls leave the class then the respective ratio becomes 11:7. What is the number of
boys in the class now?
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U T H o159 T A5 PT IHFTIT AU 6:5 8] F1a8 3R o5 H&T H GTIEET Hcl & T 2
TSI T SIS & 1 15 T TSTd4] T HJGIT L1 7 &) STl & 1 3737 87T H T 13
HEIT FIT |

Solution:

Let the number of boys and girls be 6x and 5x respectively.

According to the question,

(6x+8)/(5x-2) = 11/7

42X+56=55x-22

=13x=78

=X=6

- Number of boys in the class=6x+8

=6x6+8=42 Ans.

(Q1)80 liters of a mixture contains milk and water in the ratio of 27:5. How much is more water
to be added to get a mixture containing milk and water in the ratio of 3:1?

80 #flc 3 T VT H GE T Tl &7 3 TIcA 21:5 & | &l fabciadl Tl 3R AT 51w 1
125707 3 G & Gredl 7 3791 3:1 &1 57T

Solution: Method-1-Shortcut

M W
Initial-=27 : §
Final-= 3 : 1

[Concept: According to question mixture & 37erar &only water add #va #) J1F #1 ST TET & s0
in both situation(i.e initial state and Final state) quantity of milk will be equal. but g7 g¥milk

& Aranquantity) glar #equal 7&T & so milk #F #ArAquantity) equal Vet gl |

M W
Initial-=27 : 5§
Final-= 3 : 1 =9
Now,
M W
Final-=27 : 9

32units(i.e 27+5)=80 litres
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1 unit=80/32
-+ 4 unit=(80/32)x4=10 litres Ans.
Method-2

M:W
27:5

80 litre
i.e total quantity

of mixture
Milk(M)=80x(27/32)=67.5 litres
Water(W)=80x%(5/32)=12.5 litres
OR
Water=80-67.5=12.5 litres
Now,
Let x litre water to be added then
67.5/(12.5+x)=3/1
= 37.5+3x=67.5
.+ X=10 litre Ans.
Method-3
Let quantity of milk in the mixture=27x
and quantity of water =5x
Now,
32x=80 liters
. X=5/2
Milk=27x=27x(5/2)=67.5 litres
Water=5x=5x%(5/2)=12.5 litres

Lety litre water to be added then

67.5/(12.5+y)=3/1

= 37.5+3y=67.5
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-+ y=10 litre Ans.

(Q2)20 litres of a mixture contains milk and water in the ratio of 3:1. How much more milk is to
be added to get a mixture containing milk and water in the ratio of 4:1?

20 ofle & U [AS0T H GET & GIat! T 3791 3:1 8| &l AT SEI3IR AT 5w &) 1Ao7 7
8 T Greft T HFqIcT4:1 81 570

Solution: Method-1: Shortcut

M W
Initial-=3 : 1
Final-= 4 : 1

[Concept: According to question mixture & 37erar &only milk add #va #) d17 #) ST 78T & s0
in both situation(i.e initial state and Final state) quantity of water will be equal. but g7 9%
water @) #TAKquantity) gle7t & ggel @equal &so water F) #IFNquantity) equal #¥et )
T AdT 8 ]

So,

M : W

Initial-= 3 . 1
Final-> 4_JPiff.=11

4 unit(i.e 3+1)=20 liters
.= 1 unit=20/4=5 litres Ans.
Method-2

M:W
3:1

20 litre
i.e total quantity

of mixture
Milk(M)=20x(3/4)=15 liters
Water(W)=20x(1/4)=5 liters
OR
Water=20-15=5 liters

Now,
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Let x litre milk to be added then
(15+x)/(5)=4/1
= 15+x=20

. X=5 litre Ans.

(Q3)729 ml of a mixture contains milk and water in the ratio 7:2. How much more water is to be
added to get a new mixture containing milk and water in the ratio 7:3?

729 ml & T [RHOT H ZE T GIeA T I 1:2 8| &l AT Gredt 3R AT 5w ) 3507
H ¥ T Gl T 3791 1:3 &1 570
Solution: Shortcut

M: W
Imitial-==7 : 2
Final->7 : 3
[Concept: According to question mixture & FHerar &only water add Fve #F J17 @1 &7 W& & so
in both situation(i.e initial state and Final state) quantity of milk will be equal. but I8T 9T milk
#r #ATANquantity) gla1 # gge &equal &so milk &) &#ENquantity) equal F¥e # T AgT
&1
So,
Initial }}I W
niai- H P -
Final-}'; _ 32:| diff.=1
9 unit(i.e 7+2)=729
-+ 1 unit=729/9=81 ml Ans.

(Q4)An alloy contains copper, zinc, and nickel in the ratio of 5:3:2. The quantity of nickel (in
Kg) that must be added to 100 kg of this alloy to have the new ratio 5:3:3 is.

v AT H GTeT, [ T felaher 5:3:2 @ 379l H 8 3¢ [A9Eg 37100 kg H fFce1
1567 B AT (73T, H) ST6fl ST 61 747 377917 5:3:3 81 5770

Solution: Shortcut
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CO :
Initial-= 5
Final-= § : 3

i:l Diff=1

10 unit(i.e 5+3+2)=100 kg
.+ 1 unit=100/10=10 Kg Ans.

(Q1)A mixture contains milk and water in the ratio 5:2 on adding 22 litres of water, the ratio of
milk and water becomes 7:5. The quantity of water in the original mixture is.

U [REOT H ¥ & GIeA1 T HoqIeT5:2 8 Tlar 22 Slex Gl 3R AT ST &t 7 A0 7
G T TIat! FI3JGIcT 1:5 1 ST & I original fAS07 & qrafl &7 o HIAT F1cT &)

Solution: Shortcut

M W
Initial-=5 : 2
Final-=7 : §

[Concept: According to question mixture & 37erar & 22 litres water add #¥et #1 JIT #1 57 &
&s0 in both situation(i.e initial state and Final state) quantity of milk will be equal. but Jg7 v
milk ) #ENquantity) glaF #equal 787 8 so milk #r #ANquantity) equal #v1gl |

M
Initial-= §
Final-= 7

Now,
M

Imitial-= 35 :

Final-=35 :
11 unit=22 liters
1 unit=22/11
< 14 unit=(22/11)x14=28 liters Ans.
Method-2
Let the initial quantity of milk in mixture=5x and water=2x
adding 22 liters of water then

5x/(2x+22)=7/5
25x=14x+154
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2 x=14

The quantity of water in the original mixture=2x=2x14=28 liters Ans.

(Q2)The milk and water in a mixture are in the ratio 7:5. When 15 litres of water are added to it,
the ratio of milk and water in the new mixture becomes 7:8. The total quantity of water in the
new mixture is.

U [REOT H e & GIeA1 T HoqIc 1:5 8 lar15 Slex Gl 3R AT ST &t 7 Ao #
G T GIeA! FI3HJGI 1:8 81 ST & A1 7T [RS0T & qrad) 1 ool HTAT FTT F)

Solution: Shortcut

M W
Initial-=7 : §
Final-= 7 : 8

[Concept: According to question mixture & Ferar & 15 litres water add FVed #1 JI #1 7 76T

&s0 in both situation(i.e initial state and Final state) quantity of milk will be equal. but - rerd
milk @) &TANquantity) gla) & gget &equal &'so milk #) #ERquantity) equal F¥et ) FT
T8 ]

Now,

M N

Initial-= T : ;] Diff.=3
Final->= 7 : §

3 unit=15
1 unit=15/3
. 8 unit=(15/3)x8=40 litre Ans.
Method-2
Let the initial quantity of milk in mixture=7x and water=5x
adding 15 liters of water then
7x/(5x+15)=7/8
56x=35x+105

< X=5

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

In new mixture milk=7x and water=8x
The quantity of water in the new mixture=8x=8x5=40 liters Ans.

(Q3)The milk and water in a mixture is 1:3. If 5 litres of milk are added to it, the ratio of milk
and water in the new mixture becomes 1:2. The total quantity of new mixture(in litres) is.

U RS0 H e T Gl T JTIT1:3 8 Tla's oy & IR AT S0 dt v [A5or # g8
Tl T IHFTIT 1:2 81 STIT & & T [BS0T 6 ool HTAT T )|

Solution: Shortcut

M W
Initial-=1 : 3
Final-= 1 : 2

[Concept: According to question mixture & 37erar &5 litres milk add #va #) a1 #1 T 7ETE
so in both situation(i.e initial state and Final state) quantity of water will be equal. but J&7 9v
water T &TENquantity) gl #equal #87T & so water F) #TANquantity) equal FHveT 177 |
Now,

M W
Initial-=1 : 3=2
Final-== 1 : 2x3

Now,
’ M W

Finalo 319
1 unit=>5 litres

9 unit(i.e3+6)=9x5=45 litres Ans.

Method-2

Let the initial quantity of milk in mixture=x and water=3x
adding 5 liters of milk then

(x+5)/3x=1/2

=2x+10=3x

=x=10

. quantity of new mixture=4x+5

=4x10+5=45 liters Ans.
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(Q4)In a mixture of 25 litres, the ratio of acid to water is 4:1. Another 3 litres of water is added
to the mixture. The ratio of acid to water in the new mixture is.

25 &flex & U (4T H UIAE & It T HFUIT A:1 8| Il AHOT A3 eliex qreAt [Herar s,
&1 7T [T # TS & GTA1 T 3791 41 81971

Solution:

|'II|.III Illllll'l

/ \
¥ Y
Acid ©  Water
4 1
Acid= 25x(4/5)=20 litres
Water=25-20=5 litres
After adding 3 liters of water then total quantity of water=5+3=8 liters
Now, Ratio=20/8=5:2 Ans
Method-2
Let the initial quantity of Acid in mixture=4x and water=x
now,
5x(i.e 4x+x=5x)=25
=x=5
Acid=4x=4x5=20 liters
Water=x=5 liters
after adding 3 liters of water then total quantity of water=8 liters
Now, ratio=20/8=5:2 Ans.

(Q1)Two equal vessels are filled with the mixture of milk and water in the ratio of 3:2 and 4:1
respectively. If the mixture is poured into a third vessel, the ratio of milk and water in the third
vessel will be.

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

Gl GellelT HHI STHAT 35 & [ GET & Grad! 3 [AA0T &7 3aared HHr 3:2 3IR4:1 8 Ifa
gl 30T @1 ARRT GeAlelT H AT 84T ST &t AHRT GAloll 3 13507 G&T & Gied! 7 ey 9icT

&7 &1

Solution: Shortcut

M : W  Total Quantity
5
5

Vessell==3 : 2
Vessel2-= 4 : 1

[Concept: If total quantity of both vessels are equal then add milk+milk : water+water ]

Here the quantity of both vessels are equal so, the ratio of milk and water in the third
vessel=7:3 Ans.

Method-2

Total quantity of milk=(3/5)+(4/5)=7/5
Total quantity of water=(2/5)+(1/5)=3/5
Ratio=(7/5)/(3/5)=7:3 Ans.

(Q2)There are two containers of equal capacity. The ratio of milk to water in the first container
is 3:1, in the second container 5:2. If they are mixed up, the ratio of milk to water in the mixture
will be.

Gl ecfaT FHT STHEAT 3 &) Tgot Tctad # GEr T GIat! 7 IqTeT 3:1 & 3R Ge ctor H Ger  Gradt
P HIIT5:2 8| Ffa aladl 1 AT 3T 1w &) FAAT # Ger & Grst 7 391 FT 8171

Solution:

M : W  Total quantity
Container1--3 : 1 = 4
2

Container 2-= 5 = 7

[Concept: Here total quantity of both containers are not equal so first of all we will have to
make a total quantity of both containers are equal. Total quantity ko equal #ve & foalw farer

fa@number & 1st and 2nd rtotal quantity #rmultiply /37 s7ar 36 38 number & 373
ratio &1 &multiply #3aN]

Now,
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M " Total quantity
Container 1-> 3 4 x7=128

Container 2-= 5§ = 7 %4 =28

Now,
' M : W Total quantity

Container 1-= 21 7 =128
Container 2->= 20 8=28
41 = 15 Ans.

Method-2

Total quantity of milk=(3/4)+(5/7)=41/28
Total quantity of water=(1/4)+(2/7)=15/28
Ratio=(41/28)/(15/28)=41:15 Ans.

(Q3)Three utensils contain equal quantity of mixtures of milk and water in the ratio 2:3, 1:4 and
4:1 respectively. If all the solutions are mixed together, the ratio of milk and water in the new
mixture is.

AT FctoT FHTT ETHA 3 & (57 GET T GTad] @ AT BT 391 o798 2:3, 1:43IR4:1 81 7fa
el Gcted @ [ASOT 1 AT a2 ST &I AT [R50 # GE d I} BT 3791 F47 1771

Solution: Shortcut

Milk : Water Total quantity
1st utensils 2 3 =
2nd utensils 1 4 =
3rd utensils 4 1 =

Here total quantity of all utensils are equal, so ratio of milk and water =7:8 Ans

Concept: [Total quantity of all are equal then simply Add, (milk1+milk2+milk3) :
(waterl+water2+water3) ]

2nd method:

Total quantity of milk=2/5+1/5+4/5=7/5
Total quantity of water=3/5+4/5+1/5=8/5
Ratio= (7/5)/(8/5) = 7:8 Ans.
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(Q4)Three glasses of equal volume contains acid mixed with water. The ratios of acid and water
are 6:1, 5:2 and 3:1 respectively. Contents of these glasses are poured in a large vessel. The
ratio of acid and water in the large vessel is.

AT TeATT THIA GTHAT 3 ¢ 15 Tl & AT VR3S I@T I3 8| UIAS T 91t 3T 3] qrcd
FHIL: 6:1, 5:23°3:1 8| Ffa A=7l 7ol @ [FAUT I vh e H [Helr 1641 ST Al 59 [FA0T H
UIAE T qradl 7 3 qIcd 4T §1771

Solution:

Acid : Water Total quantity
1st glass = 6 1 =7
2nd glass ->5 2 =7
Jrd glass == 3 1 =4

[Concept: Here total quantity of all glass are not equal so first of all we will have to make a
total quantity of all glass are equal. Total quantity #lequal Fva & forv fawr faw number &

1st and 2nd and 3rd @ total quantity Fmultiply /37 FTe 36t 38 number & 3@ ratio #1
Smultiply #39%]

Now,

Acid : Water Total quantity

1stglass = 6 1 = =4 =28
2nd glass =5 2 =T7x4 =28
Jrd glass -= 3 1 =4x7 =28
So.
Acid : Water

1st glass -= 24 4

2nd glass -= 20 8

3rd glass = 21 [
65 19 Ans.

2nd Method

Total acid= (6/7)+(5/7)+(3/4)
= (24+20+21)/28 = 65/28
Total water= (1/7)+(2/7)+(1/4)
= (4+8+7)/28 = 19/28
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. Ratio= (65/28)/(19/28) = 65:19 Ans.

(Q1) Two container A and B contain a mixture of Acid and water in the ratio of 4:5 and 5:1. If
both containers are mixed in the proportion of 5:2 respectively, Find the ratio of acid and water
in the newly formed mixture is.

gl cteT A 3B # URAZ 3R GraA) T fA50T 7@ 17T & ST URAs 3R Gref! T 3o qTeT 4:5
3iR5:1 8] Ffer qledl dctet #1'5:2 & i 9Icd A AT ST 8 & 70 fA907 & vfds 3R are #1
e T

Solution:

: W A = W
‘4:5 3:1

In 5 unit of mixture

Quantity of acid=(4/9)x5=20/9

Quantity of water=(5/9)x5=25/9

In 2 unit of mixture

Quantity of acid=(5/6)x2=5/3

Quantity of water=(1/6)x2=1/3

.- Required ratio=[(20/9)+(5/3) : (25/9)+(1/3)]
= 35/9:28/9 =5:4 Ans.

Second Method:

Acid . Water Total Quantity

Container A-> 4 5 = 9
Container B-= 5 1 = 6

[ Concept: Container A 3 container B #Ttotal quantity equal Hﬁ?so,Step-l: Container A
R container B &total quantity #equal Va7 8 equal #ve & faw faenumber &total
quantity #rmultiply 37 FTaT 36 38 number & 3@ ratio F1 s multiply #3778} Step-
2: glaAtcontainer & fawratio & Aerar &7 ¥@T & fv 38 multiply Fvar &)
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Acid : Water Total Quantity

Container A-> 4 5 = 9- x2
Container B-> 5 1 = 6- x3
8 10 18 -
15 3 18 -
40 50
30 6
70 56
5 ¢ 4Ans

}step-1

:g }step-2

(Q2) Two alloys contain tin and iron in the ratio of 1:2 and 2:3. If the two alloys are mixed in the
proportion of 3:4 respectively the ratio of tin and iron in the newly formed alloy is:

gl 1R €131 # 1o o FIT1:2 3R°2:3 & 3791 H &) Tfer 17T €G3l #1'3:4 3 Jiearcd #
[RETET STIT &, &1 7T A €1 # E1aT T eflg T 3eq1cT FT &1

Solution:

Tin ~ lron  Total Quantity

1st alloy-= 1 2 = 3
2nd alloy-> 2 3 = 5

[ Concept: 1st alloy 3v2nd alloy #Ttotal quantity equal #gT & so,Step-1: 1st alloy v 2nd
alloy @total quantity #tequal Fva7 & equal #at & fAT fGFnumber &total quantity &
multiply /37 rearr 39 3&number & 3@aratio #1 &t multiply #Hver & Step-2: gl
container &1 fa@ ratio & fAermar &7 ¥8T & v 3|d multiply #¥ar &)

Tin  : Iron Total Quantity

1stalloy-> 1 2 3- x5}5tep-l
2nd alloy-» 3 5- %3

2

5 10 15 -
6 9 15 -
15 30

24 36

39 66

13 © 22 Ans

:i }Step-2

(Q3)Three glasses contains acid mixed with water. The ratios of acid and water are 3:2, 2:1 and
2:3 respectively. If the mixture taken out in the ratio 10:9:5. What is the ratio of acid and water
in new mixture is.

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

et TeATeT 157 Tl & AT UIAs Il 197 8| UIEE & Gledt &7 3 9Icd $AvE 3:2, 2:131%
2:3 8| 3far fAHOT $110:9:5 & 3io7qIcT H fashell STV &l T [AH0T H UIAs T Gred] 7 3 qrc

&7 &1

Solution:

Acid : Water Total quantity
1stglass -= 3 2 =5
2nd glass =2 1 =
Jrd glass -= 2 3 =

[ Concept: 1st glass, 2nd glass R 3nd glass #Ttotal quantity equal 78T &so, Step-1: 1st glass,
2nd glass R 3nd glass @total quantity #equal #¥=7 & equal #va & farw fA@number &
total quantity #rmultiply /&7 FI7waIT 39} 3@ number & 3@ ratio #1 $fmultiply F¥a7 8
Step-2: dlatcontainer & fA&ratio & AT %6 5T 76T & v 39d multiply e #]

Acid : Water Total quantity

1stglass = 3 2 =5x3 =15
2nd glass -> 2 1 =3x5=15
Jrd glass = 2 3 =5x3 =15
So,
Acid : Water Acid - Water

1stglass-= 9 6 =10 90 60
2nd glass -= 10 5x=x9 = 90 45
Jrd glass -= 6 9 x5 30 45
210 150
7 . SAns.

(Q1)Two vessels contain milk and water in the ratio 3:5 and 6:1. Find the ratio in which the
contents of the two vessels have to be mixed to get a new mixture in which the ratio of milk and
water is 7:3.

gl dcte7 H e T qradl 7T [AA0T3:5 3i6:1 & 3eyqlcd A 8] &1 5o 1 3791 H [HeArar 1w
@I T A0 #H e T It T 3791 7:3 81 570

Solution:
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Milk(vessel-1) Milk(vessel-2)

.« Required ratio=(11/70):(13/40)
=44:91 Ans.
OR

Water (vesse ]-]_] Water(vesse 1-2]
1

.« Required ratio=(11/70):(13/40)
=44:91 Ans.

(Q2)In two blends of mixed tea, the ratios of Darjeeling and Assam tea are 4:7 and 2:5. The

ratio in which these two blends should be mixed to get the ratio of Darjeeling and Assam tea in
the new mixture as 6:13 is.

1RPAT =17 & &l [AS0T 7 GISAfelar 31N 31 a1 @& i qIT 4:1 3R 2:5 8| 87 &Il fA4or &1
1347 37791 H AT ST 13 GTISH 61T iR 373 &I 37 3791 7T [F40T #6:13 81 5777
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Darjeeling tea Darjeeling tea
[lst blend) (End blend)

“\ e

19
e e
19 7 19

= 42-38 ﬂ
19=7 1119
-« Required ratio=(4/(19x7)):(10/(11x19))
=22:35 Ans.
OR

Assam tea Assam tea
(1st blend) {Enstrihlend]
7

.« Required ratio=(4/(7x19)):(10/(19%11))
=22:35 Ans.

(Q1)A vessel contains 80 liters of milk. 8 liters of milk is taken out from it and replaced by
water. Then again from mixture, 8 liters is again taken out and replaced by water. Find the
amount of milk in the final mixture.

U &clat H 80 FHIc¥ GE 8| 5HA H8 ey G fAehieiany 371l &1 Tlsd! [AGIT faar Siiar &) fax
GHRT T8 Sfie FAAT fAeTe1eh 3HH 31T &1 911 [AeT 134T ST 8, &l 7w [AA0T H 87
HTFT FT 8

Solution:

Final quantity = Initial quantity(1 - X )'1
C

Where, c=capacity of vessel
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x=Quantity taken out at a time

n=Number of process

Now,

Final quantity=80(1-8/80)32
=80x(9/10)%(9/10)
=64.8 liters Ans.

(Q2)A vessel contains 60 liters of milk. 12 liters of milk is taken out from it and replaced by
water. Then again from mixture, 12 liters is again taken out and replaced by water. The ratio of
milk and water in the resultant mixture is.

U dciad H60 oIy GE 8| 5HH & 12 oIy G frshiciany 3caT &1 Tlad! AT faar Siiar &) fax
GE TR12 Ie¥ AT [AFIcIa 38H 31T &1 Glst! AT fa2r S &, &l v [A507 7 ger &
qrA) &1 39T 8]

Final quantity = Initial quantity(1 - X )'1
C

Now,

Final quantity=60(1-12/60)2
=60x(4/5)%(4/5)
=38.4 liters

Quantity of water=60-38.4=21.6 liters

.« Required ratio=38.4 : 21.6

=16:9 Ans.

(Q3)A vessel contains 20 liters of acid. 4 liters of acid is taken out of the vessel and replaced by
the same quantity of water. Next 4 liters of the mixture are with drawn, and again the vessel is
filled up with water. The ratio of acid left in the vessel with that of the original quantity is.

U &cied H 20 e TIAE 8 38H &4 ofiex AT [AdIeiay 38 TTT T 3! 81 AT H
greT STeT 127 STIaT 8 [ 3GH 84 &fie< [AS0T [Aarer o3 Sar & 3 dder & 3a+1 8 A7
H It 5767 13T STIT &) dciel A & UIES 13 ATAT 31K GRS # CIAS 31 AT 7 3e7q1eT FT
&1
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Solution:

Final quantity = Initial quantity(1 -X )'1
C

Now,

Final quantity=20(1-4/20)32
=20x(4/5)%(4/5)
=12.8 liters

.« Required ratio=12.8 : 20

=16:25 Ans.

(Q1)A container contains two liquids A and B in the ratio 7:5. When 9 liters of mixture are
drawn off and the container is filled with B, the ratio of A and B becomes 1:1. How many liters
of liquid A was in the container initially?

v f358 H a1 gal A FTAUTB &1 [AHVTT:5 3 i A 8] STa9 ey (AAT faeTell 13T 3
558 $IB & F 19T 747, ATA FUTB T 91T 1:1 81 T1 G GT A FHI QRHATA AT =T
o

Solution:

Liqud A . Liquid B
Initially-= 7 5
Finally-= 1 1
[Concept: &amixture # & F&mixture &1 Ifa fAHTeT STT &} fAde AT mixture & &ratio
347 &1 813iT fadaToriginal mixture #W(’?Wflfmixture & sftratio 3= & ghamm fAa=T
original mixture & &1t Wf‘tfmixture FTratio g« change WWWWextra AT

ST

3 question #Wflfmixture Hliquid B Frerar fAemr T 7T & @Hiquid B #Tratio change
ghabut liquid A #Tratio 37 & @9 fadaT original mixture & &1 &f@Far question & 2T
farfinal ratio 1:1 g a77ar & so final ratio #liquid A @ ratio $17 77T 81917
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Liquid A . Liquid B
Initially-= 7 5
Finally-= 1 1 -=7
7 5
7 7

2 units=9
1 units=9/2
Initial mixture=12x(9/2)+9
=63 liters
liquid A=(7/12)x63=36% liters Ans.

Free Study Material Join: Telegram.me/ExamsCart

(Q2)A vessel contains liquid A and B in ratio 5:3. If 16 liters of the mixture are removed and the
same quantity of liquid B is added, the ratio becomes 3:5. What quantity does the vessel hold?

e &ctel H &1 Gal A TTB T fAS0T5:3 3 AT H 8] ST16 Slcy [AS0T Ielshrell 147 3R
554 1 GTB & IR a3 T, FTA FUTB 7 39T 3:5 81 a1 &l dciat # ot HTAT fabrcied! 8|

Solution:

Liquid A . Liquid B
Initially-= 5 3
Finally-= 3 5

Liqud A . Liquid B
Initially-= 5 3 -=3
Finally-= 3 5-x5

15 9
15 25
16 units

16 unit =16
1 unit=16/16=1
Initial mixture=24x1+16
=40 liters Ans.

Second Method:
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Quantity of A= (5/8)x16=10

Total quantity=((5+3)? /52 — 39)x10
=(64/16)x10
=40 liters Ans.

Note: & Ratio reverse 1917 (i.e 5:3 becomes 3:5) dF §H 1T S method FTuse HV FHA 8

(Q3)A can contains a mixture of two liquids A and B in the ratio 7:5. When 9 liters of mixture
are drained off and the can is filled with B, the ratio of A and B becomes 7:9. How many liters of
liquid A was contained by the can initially?

U @l H G Gl A TUTB &1 [AHUTT:5 3 3T H 8] SIa79 Sey [AHYT 316 137 3R 35
PIB &Y 13T 7T, ATA TATB FT 79I 7:9 &1 ITAT Tl Ga A I YRIATHAT HTAT fabciad! o)

Liqud A . Liquid B
Initially-= 7 5
Finally-= 7 9
4 units

[Concept: & question #Wf‘tfmixture Hliquid B Herar AT T 78T 8 @tliquid B #Tratio
change gIbut liquid A #Tratio 3= & T8I faaaToriginal mixture & &1 so & question
# ggel & &tliquid A same 8]

4unit=9

1 unit =9/4
initial mixture =12x(9/4)+9
=36 liters
liquid A = (7/12)x36
=21 liters Ans.

(Q1) The ratio of the income to the expenditure of a family is 10:7. If the family’s expenses are
Rs 10,500, then saving of the family is.

v GRER 31 AT 3R @e T 37917 10:7 8] il TRER &7 &+ Rs 10500 & 7 GRaR
FAT T |

Solution:
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Income : Expenditure
Let-= 10x X

Saving = Income — Expenditure
=10x — 7x = 3x

Given that,

= 7x=10500

=x=1500

-+ saving=3x1500=4500 Ans.

(Q2) The ratio of income and expenditure of a person is 11:10. If he saves Rs 9000 per annum,
his monthly income is.

e ST I AT 3R &<l T Ha79IeT 11:10 8] Ffa T8RS 9000 &Y Y &l Rl &l Al
T 1T |

Solution:

Income : Expenditure
Let-= 11x 10x

Saving = 11x — 10x
=X
Given that,
X =9000
Annual income=11x=11x9000
=Rs 99000
.« Monthly income=99000/12=Rs 8250 Ans.

(Q3) The income of A, B and C are in the ratio 7:9:12 and their spendings are in the ratio
8:9:15. If A saves 1/4th of his income, then the saving os A, B and C are in the ratio of.

A, B 3IR'C @I 3177:9:12 @ 3io7q1cT H & 8T 3o7d @e/8:9:15 & 3791 # 8] F1a A 37911
ST FT1/A ST FEAT 8, dTA, B 3R C &1 el T 3791 8

Solution:
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A : B : C
Income -> X ax 12X
Spendings -> 8Y ay 19Y
Saving -= (/X -8Y) © (9X-9Y) : (12X -13Y)
7x32-8x21 9(32-21) 12x32-15%21
56 : 09 : 69

56 : 99 : 69 Ans.
[Rough:

According to question
7x-8y = (1/4)x7x
28x-32y=T7x

21x=32y

X=32

y=21]

(Q1)The monthly income of two persons are in the ratio 2:3 and their monthly expenditure are
in the ratio 5:9. if each of them saves Rs 600 per month, then their monthly incomes are.

gl a1t I AT 1T 2:3 3 I A & T 37T ATAF F5:9 & 3edId H &) Fre
FTH T G TIAATTRS 600 &I FIT HIAT &, Al 37! HTIHD 1T 8]

Solution:

Let the income of 1st and 2nd person are 2x and 3x
[Note: Income(l)=Expenditure(E) + Saving(S)]
~<1-S=E

Now according to the question

2x - 600 _ 5

3x - 600 9

= 18x — 5400 = 15x — 3000
= 3x = 2400

=+ X=800

Income of 1st person=2x=2x800
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=Rs 1600 Ans.
Income of 2nd person=3x=3x800
=Rs 2400 Ans.
Second Method:

Step-1: &&& gga Income IV Expenditure tcross-multiply #¥=77 8 fv 3@3 J1g difference
faarerer 8

1 st Person : 2nd Person
Income -= 2 3
T
Exp. -= 5 9
15 18

e
Difference=3 unit

Step-2: Expenditure 3V Saving &tcross-multiply #va7 8 v 3@a a1g difference fAwrerer &

Exp. -= 5%< 9
Saving -> 600 600
5400 3000
Difference=2400

3 unit = 2400
1 unit =800
Income of 1st person=2unit=Rs 1600 Ans.

Income of 2nd person=3unit=Rs 2400 Ans.

(Q2)The incomes of two persons are in the ratio 3:2 and their expenditure are in the ratio 5:3. If
each saves Rs. 1000, then 1st person income is.

gl eg1Feat $1 HIAF 1 3:2 F 37917 #H & IR 377 &l 5:3 3 AT H 8 Fla I dF Rs
1000 FT7aT &, Al get egfda &I 31T a1 6|

Solution:
Let the income of 1st and 2nd person are 3x and 2x

[Note: Income(l)=Expenditure(E) + Saving(S)]
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<1-S=E
Now according to the question

3x - 1000 _ 5

2x - 1000 3
= 9x — 3000 = 10x — 5000
=x=2000
Income of 1st person=3x=3x2000
=Rs 6000 Ans.
Second Method

Step-1: &&& gge Income HIVExpenditure &cross-multiply #3778 fv 383 a1g difference
fAsTeraT &

1 st Person : 2nd Person

Income -= 3>< i
Exp. -= 5 3

10 9

—
Difference= 1 unit

Step-2: Expenditure 3 Saving &!cross-multiply #va7 8 fv 373 a1g difference fAarerer &

Exp. =5 3
Saving -= 1%00{]
3000 5000

"-\—\_\_\_\_\_\_‘_'_'_'_,_o—'—"
Difference=2000

1 unit = 2000
Income of 1st person=3unit
=Rs 6000 Ans.

(Q1) The ratio of income of two persons is 5:3 and that of their expenditures is 9:5. Find the
income of each person, if they save Rs 1300 and Rs 900 respectively.

gl eg1Feat 1 T T 91T 5:3 & FTUT 37 &% T 9l 9:5 8| Tla & FHeI: Rs 1300
3NRs 900 & FTT FX &, Al Yedd F HTT T FAT

Solution:
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Let the income of 1st and 2nd person are 5x and 3x
Note: Income(l)=Expenditure(E) + Saving(S)
I-S=E

Now according to the question

ox - 1300 _ 9

3x - 800 5
= 25x — 6500 = 27x — 8100
=x= 800
Income of 1st person=5x=5x800
=Rs 4000 Ans.
Income of 2nd person=3x=3x800
=Rs 2400 Ans.
Second Method

Step-1: && gge Income 3V Expenditure &cross-multiply #3778 fv 353 a1g difference
fAwrerar &

1 st Person : 2nd Person
Income -= 5><3
Exp. -= 9= 5
27 25

T .
Difference=2 unit

Step-2: Expenditure ¥ Saving &}cross-multiply #va7 8 fbv 38 15 difference fR%rerar &

Exp_—}g\}ﬁ 5

Saving -= 1300 900
6500 8100
Difference=1600

2 unit = 1600
1 unit = 800

Income of 1st person=5unit=Rs 4000 Ans.
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Income of 2nd person=3unit=Rs 2400 Ans.

(Q2) Two person have their monthly incomes in the ratio 8:5, while their monthly expenditures
are in the ratio 5:3. If they have saved Rs 12000 and Rs 10000 monthly respectively, then the
difference in their monthly income is.

gl SqfFeTat & HIAF T 8:5 & HoJqlcd #H & a1 Io7ehT A A% 7T 5:3 3 Jegqicd H 8 Ifa
3ogla HHI: Rs 12000 W Rs 10,000 ) HTfAF F&T 61 & Al 3761 HIH 1T H T
=TT &)

Solution:

Let the income of 1st and 2nd person are 5x and 3x
[Note: Income(l)=Expenditure(E) + Saving(S)]
<1-S=E

Now according to the question

8x - 12000 _ 5

5x - 10000 =~ 3

= 24x-36000=25x-50000

= x=14000

Income of 1st person=8x=8x14000

=Rs 112000

Income of 2nd person=5x=5x14000

=Rs 70000

Difference=112000-70000=42000 Ans.

OR

Difference in monthly income=8x-5x=3x
=3x14000=42000 Ans.

Second Method

Step-1: &8 gge Income FNExpenditure Frcross-multiply #va7 & fbv 399 arg difference
fAsrerar &
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1 st Person : 2nd Person
Income -= 8 >< H
Exp. -= 5 3
25 24

-
Difference= 1 unit

Step-2: Expenditure 3V Saving &!cross-multiply #va7 8 fv 373 a1g difference fAarerer &

Exp -=5 3

Saving -= 12000 10000
36000 50000

e
Difference=14000

Difference in monthly income=8-5=3
Now,

1 unit=14000

3 unit=14000x3=42000 Ans.

(Q1) A box contains 280 coins of one-rupee, 50-paise and 25-paise. The values of each kind of
the coins are in the ratio of 8:4:3. Then the number of 50-paise coins is.

v §iFH HARs 1, 50 I 3R 25 9F #5280 fAFP 8| cd% GhR & e & 7698:4:3 &
SFTIT H 8, 150 9F & [AFh] 1 G&IT TATST

Solution:

[Concept: 50 98 &IRs 1 §a7777 & @150 98 &2 dmultiply Fv=77 8191 7 T &t F8 T 850
§8 &2 AT &9 39 FFR50 U8 Ftotal 8 fGF §1aKi.e 4x2=8)| 25 S& FIRs 1 Fo77AT & AT

25 O &4 Jmultiply &7 §19TT IT T 37 g Fhct 625 U 34 AFd 619l 57 G 25 Gd
Ftotal 12 /&7 §19Ki.e 3x4=12)[]

Rs1 = S0p : 25
Value -= 8 4 3

MNo. of Coins -= 8 8 12

Total no of coins=28
28 coins =280

1 coins = 10
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No. of 50 paise coins = 8x10 =80 Ans.

(Q2) There are 480 coins in half rupees, quarter rupees and 10 paise coins and their values are
proportional to 5:3:1. The number of coins in each case are.

50 99, 25 9F 310 9 3 $o7480 e 8] 37T Hod'5:3:1 @ Jagdicd # & &) Jed [AF]
Fr T&IT fBca 8]

Solution:

[Concept: 50 & &IRs 1 §a77a77 & @50 o 12 dmultiply #=77 §171T I7 Tg T Fg HH 850
O 32 A olal d 39 9HR50 U @rtotal 10 fGF §1aKi.e 5%x2=10)| 25 & HIRs 1 §o7raT
& dr2s o @4 dmultiply F7 81917 I7 T8 81 F5 Th 825 O &4 AT ol al dl 387 TH N
25 9 @total 12 f@FP §19Ni.e 3x4=12)| 10 &F HIRs 1 §o7777 & 110 & H110 Fmultiply
FNAT 11T T 7 3T Fg Tt 810 4 310 f@Fa &a al 397 9/ 10 9 @rtotal 10 A
g17Ki.e 1x10=10)[]

50p - 25p  10p
Value -> 5 3 1

No. of Coins -= 10 12 10
Total no of coins=32
32 coins =480
1coins =15
No. of 50 paise coins = 10x15 =150 Ans.
No. of 25 paise coins = 12x15 =180 Ans.
No. of 10 paise coins = 10x15 =150 Ans.
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Ratio & Proportion Questions

Q1. Seats for Maths, Physics and Biology are in the ratio of 5 : 7 : 8 respectively. There is a
proposal to increase these seats by 40%, 50% and 75% respectively. What will be the respective
ratio of increased seats ?

1)2:3:4

(2)6:7:8

3)6:8:9

(4) Cannot be determined

(5) None of these

Q2. DVDs at a rent of Rs. 578. If they used it for 8 hours, 12 hours and 14 hours respectively,
what is Kiara'’s share of rent to be paid ?

(1) Rs. 238

(2) Rs. 204

(3) Rs. 192

(4) Rs. 215

(5) None of these

Q3. persons in the ratio of 2 : 3 : 4 : 5. Out of the four, one person gets Rs. 200 more than the
other and Rs. 100 less than another. What is the sum ?

(1) Rs. 2800

(2) Rs. 1400

(3) Rs. 4200

(4) Cannot be determined

(5) None of these

Q4. In a college the number of students studying Arts, Commerce and Science are

in the ratio of 3 : 5 : 8 respectively. If the num- ber of students studying Arts, Commerce and
Science is increased by 20%, 40% and 25% respectively, what will be the new ratio of students
in Arts, Commerce and Science respectively ?

(1)18:35:50

(2)3:10:10

3)4:8:5

(4)32:35:25

(5) None of these

Q5. 20 boys and 25 girls form a group of social workers. During their membership drive,

the same number of boys and girls joined the group (e.g. if 7 boys joined, 7 girls joined). How
many members does the group have now, if the ratio of boys to girlsis 7 : 8 ?

(1) 75

(2) 65

(3)70
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(4) 60
(5) None of these

Q6. A sum of money is divided among A, B, C and D in the ratio of 3 : 4 :9 : 10 respectively. If
the share of C is Rs. 2,580 more than the share of B, then what is the total amount of money of A
and D together ?

(1) Rs. 5,676

(2) Rs. 6,192

(3) Rs. 6,708

(4)Rs. 7,224

(5) None of these

Q7. Production of company A is 120% of the production of company B and 80% of the
production of company C. What is the ratio between the productions of companies A, B and C
respectively ?

1)6:5:9

(2)6:5:4

(3)12:10:15

(4)10:12:15

(5) None of these

Q8. Number of students in Arts and Science faculties in an institute are in the ratio of 5: 8
respectively. If 150 more students join Art faculty while 80 more students join Science faculty,
the respective ratio becomes 3 : 4. Originally what was the total number of students in both
faculties together ?

(1) 1200

(2) 1400

(3) 1150

(4) Cannot be determined

(5) None of these

Q9. 75% of a number is equal to 58th of another number. What is the ratio between the first
number and the second number respectively ?

(1)5:4

(2)6:5

(3)4:5

4)5:6

(5) None of these

Q10. In a test, a candidate secured 336 marks out of maximum marks x’. If the maximum marks
X’ were converted into 400 marks, he would have secured 192 marks. What were the maximum
marks of the test ?
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(1) 700
(2) 750
(3) 500
(4) 650
(5) 800

Q11. Which of the following represents ah = 64 ?
(1)8:a=8:b

(2)a:16=Db:4

(3ya:8=b:8

4)32:a=b:2

(5) None of these

Q12. The ratio of the number of students studying in schools A, B and C is 5 : 8 : 4 respectively.
If the number of students studying in each of the schools is increased by 20%, 25% and 30%
respectively, what will be the new respective ratio of the students in schools A, B and C ?
(1)13:25:15

(2)20:25:13

(3)15:25:13

(4) Cannot be determined

(5) None of these

Q13. When 30% of one number is subtracted from another number, the second number reduces
to its own four-fifth. What is the ratio between the first and the second numbers respectively ?
(1)4:7

23:2

3)2:5

(4) Cannot be determined

(5) None of these

Q14. The largest and the second largest angles of a triangle are in the ratio of 3 : 2 respectively.
The smallest angle is 20% of the sum of the largest and the second largest angles. What is the
sum of the smallest and the second largest angles ?

(1) 80°

(2) 60°

(3) 100%

(4) 90°

(5) None of these

Q15. The ratio between the angles of a quadrilateral is 7 : 2 : 5 : 6 respectively. What is the sum
of double the smallest angle and half the largest angle of the quadrilateral ?
(1) 162°
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(2) 198°

(3) 99°

(4) 135°

(5) None of these

Q16. The angles of a quadrilateral are in the ratio of 2 : 4 : 7 : 5. The smallest angle of the
quadrilateral is equal to the smallest angle of a triangle. One of the angles of the triangle is
twice the smallest angle of the triangle. What is the second largest angle of the triangle ?
(1) 80°

(2) 60°

(3) 120°

(4) Cannot be determined

(5) None of these

Q17. The ratio between the angles of a quadrilateral is 3 : 4 : 6 : 7. Half the second largest
angle of the quadrilateral is equal to the smaller angle of a parallelogram. What is the value of
adjacent angle of the parallelogram ?

(1) 136°

(2) 126°

(3) 94°

(4) 96°

(5) None of these

Q18. The ratio between the three angles of a quadrilateral is 1 : 4 : 5 respectively. The value of
the fourth angle of the quadrilateral is 60°. What is the difference between the value of the
largest and the smallest angles of the quadrilateral ?

(1) 120°

(2) 90°

(3) 110°

(4) 100°

(5) None of these

Q19. Mr. Pandit owned 950 gold coins all of which he distributed amongst his three daughters
Lalita, Amita and Neeta. Lalita gave 25 gold coins to her husband, Amita donated 15 gold coins
and Neeta made jewellery out of 30 gold coins. The new respective ratio of the coins left with
them was 20 : 73 : 83. How many gold coins did Amita receive from Mr. Pandit ?

(1) 380 (2) 415

(3) 400 (4) 350

(5) None of these

Q20. The largest and the second largest angles of a triangle are in the ratio of 13 : 12
respectively. The smallest angle is 20% of the sum of the largest and the second largest angles.
What is the sum of the smallest and the second largest angles ?
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(1) 120° (2) 108°
(3) 100° (4) 102°
(5) None of these

Q21. Twenty five percent of Pranab’s annual salary is equal to eighty percent of Surya’s annual
salary. Surya’s monthly salary is forty percent of Dheeru’s monthly salary. IfDhreeu’s

annual salary is Rs 6 lacs, what is Pranab’s monthly salary ? (At some places annual income
and in some place monthly income are given)

(1) Rs 7.68 lacs

(2) Rs 56,000

(3) Rs 8.4 lacs

(4) Rs 64,000

(5) None of these

Q22. The ratio between the three angles of a quadrilateral is 1 : 6 : 2 respectively. The value of
the fourth angle of the quadrilateral is 45°. What is the difference between the value of the
largest and the smallest angles of the quadrilateral ?

(1) 165°

(2) 140°

(3) 175°

(4) 150°

(5) None of these

Q23. The ratio between the angles of a quadrilateral is 3 : 4 : 6 : 5. Two-third of the largest
angle of the quadrilateral is equal to the smaller angle of a parallelogram. What is the value of
adjacent angle of the parallelogram ?

(1) 120°

(2) 110°

(3) 100°

(4) 130°

(5) None of these

Q24. Rohit has some 50 paisa coins, some 2 rupee coins, some 1 rupee coins and some 5 rupee
coins. The value of all the coins is Rs 50. Number of 2 rupee coins is 5 more than that of the 5
rupee coins. 50 paisa coins are double in number than 1 rupee coins Value of 50 paisa coins and
1 rupee coins is Rs 26. How many 2 rupee coins does he have ?

Q)4

(2) 2

3)7

(4) Cannot be determined

(5) None of these
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Q25. The ratio between the adjacent angles of a parallelogram is 2 : 3 respectively. Half the
smaller angle of the parallelogram is equal to the smallest angle of a quadrilateral. Largest
angle of quadrilateral is four times its smallest angle. What is the sum of largest angle of
quadrilateral and the smaller angle of parallelogram.

(1) 252°

(2) 226°

(3) 144°

(4) 180°

(5) None of these

Q26. One of the angles of a triangle is two-third of sum of adjacent angles of parallelogram.
Remaining angles of the triangle are in ratio 5 : 7 respectively. What is the value of second
largest angle of the triangle ?

(1) 25°

(2) 40°

(3) 35°

(4) Cannot be determined

(5) None of these

Q27. The largest and the smallest angles of a triangle are in the ratio of 3 : 1 respectively.

The second largest angle of the triangle is equal to 44°. What is the value of 150 per cent of the
largest angle of the triangle ?

(1) 149 (2) 129

(3) 153 (4) 173

(5) None of these

Q28. One of the angles of a quadrilateral is thrice the smaller angle of a parallelogram. The
respective ratio between the adjacent angles of the parallelogram is 4 : 5. Remaining three
angles of the quadrilateral are in ratio 4 : 11 : 9 respectively. What is the sum of the largest and
the smallest angles of the quadrilateral ?

(1) 255°

(2) 260°

(3) 265°

(4) 270°

(5) None of these

Q29. Smallest angle of a triangle is equal to two-third of the smallest angle of a quadrilateral.
The ratio between the angles of the quadrilateral is 3 : 4 : 5 : 6. Largest angle of the triangle is
twice its smallest angle. What is the sum of second largest angle of the triangle and largest angle
of the quadrilateral ?

(1) 160°

(2) 180°

(3) 190°
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(4) 170°
(5) None of these

Q30. The largest and the second largest angles of a triangle are in the ratio of 4 : 3 respectively.
The smallest angle is half the largest angle. What is the difference between the smallest and the
largest angles of the triangle?

(1) 30°

(2) 60°

(3) 40°

(4) 20°

(5) None of these

Q31. The ratio between the three angles of a quadrilateral is 13 : 9 : 5 respectively. The value of
the fourth angle of the quadrilateral is 36°. What is the difference between the largest and the
second smallest angles of the quadrilateral ?

(1) 104°

(2) 108°

(3) 72°

(4) 96°

(5) None of these

Q32. The ratio between the adjacent angles of a parallelogram is 7 : 8 respectively. Also the
ratio between the angles of quadrilateral is 5 : 6 : 7 : 12. What is the sum of the smaller angle of
parallelogram and second largest angle of the quadrilateral ?

(1) 168°

(2) 228°

(3) 156°

(4) 224°

(5) None of these

Q33. The ages of Sulekha and Arunima are in the ratio of 9 : 8 respectively. After 5 years the
ratio of their ages will be 10 : 9. What is the difference in years between their ages.

(1) 4 years

(2) 5 years

(3) 6 years

(4) 7 years

(5) None of these

Q34. The ages of Sonal and Nitya are in the ratio of 9 : 5 respectively. After 8 years the ratio
of their ages will be 13 : 9. What is the difference in years between their ages ?

(1) 4 years

(2) 12 years
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(3) 6 years
(4) 14 years
(5) None of these

Q35. The ratio of the ages of a father and son is 17 : 7 respectively. 6 years ago the ratio of
their ages was 3 : 1 respectively. What is the father’s present age ?

(1) 64

(2) 51

(3) 48

(4) Cannot be detremined

(5) None of these

036. Ratio of Rani’s and Komal’s age is 3 : 5 respectively. Ratio of Komal’s and Pooja’s age is
2 : 3 respectively. If Rani is two-fifth of Pooja’s age, what is Rani’s age ?

(1) 10 years

(2) 15 years

(3) 24 years

(4) Cannot be determined

(5) None of these

Q37. Present ages of Amit and his father are in the ratio of 2 : 5 respectively. Four years hence
the ratio of their ages becomes 5 : 11 respectively. What was father’s age five years ago ?

(1) 40 years

(2) 45 years

(3) 30 years

(4) 35 years

(5) None of these

Q38. Four years ago Shyam’s age was 34 times that of Ram. Four years hence, Shyam’s age will
be 56times that of Ram. What is the present age of Shyam ?

(1) 15 years

(2) 20 years

(3) 16 years

(4) 24 years

(5) 8 years

Q39. The ratio of the ages of Tina and Rakesh is 9 : 10 respectively. Ten years ago the ratio
of their ages was 4 : 5 respectively. What is the present age of Rakesh ?

(1) 25 years

(2) 20 years

(3) 30 years

(4) 24 years
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(5) None of these

Q40. The present ages of Vishal and Shekhar are in the ratio of 14 : 17 respectively. Six years
from now, thier ages will be in the ratio of 17 : 20 respectively. What is Shekhar’s present age ?
(1) 17 years

(2) 51 years

(3) 34 years

(4) 28 years

(5) None of these

Q41. The ratio between the ages of a father and a son at present is 5 : 2 respectively. Four years
hence the ratio between the ages of the son and his mother will be 1 : 2 respectively. What is the
ratio between the present ages of the father and the mother respectively?

1)3:4

(2)5:4

(3)4:3

(4) Cannot be determined

(5) None of these

Q42. Radha’s present age is three years less than twice her age 12 years ago. Also the respective
ratio between Raj’s present age and Radha’s present age is 4 : 9. What will be Raj’s age after 5
years ?

(1) 12 years

(2) 7 years

(3) 21 years

(4) Cannot be determined

(5) None of these

Q43. The ratio of the present ages of Meena and Fiona is 16 : 13 respectively. Four years

ago the respective ratio of their ages was 14 : 11. What will be Fiona’s age four years from now
?

(1) 28 years
(2) 32 years
(3) 26 years
(4) 36 years
(5) None of these

Q44. The respective ratio of the present ages of Swati and Trupti is 4 : 5. Six years hence
the respective ratio of their ages will be 6 : 7. What is the difference between their ages ?
(1) 2 years
(2) 3 years
(3) 4 years
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(4) Cannot be determined
(5) None of these

Q45. The respective ratio between the present ages of Ram and Rakesh is 6 : 11. Four
years ago the ratio of their ages was 1 : 2 respectively. What will be Rakesh’s age after five
years ?

(1) 45 years

(2) 29 years

(3) 49 years

(4) Cannot be determined

(5) None of these

Q46. The respective ratio between the present ages of son, mother, father and grandfather

is 2:7:8:12. The average age of son and mother is 27 years. What will be mother’s age after
7 years ?

(1) 40 years

(2) 41 years

(3) 48 years

(4) 49 years

(5) None of these

QA47. The respective ratio between the present ages of Ram, Rohan and Raj is 3 : 4 : 5. If

the average of their present ages is 28 years then what would be the sum of the ages of Ram and
Rohan together after 5 years ?

(1) 45 years

(2) 55 years

(3) 52 years

(4) 59 years

(5) None of these

Q48. The respective ratio between present age of Manoj and Wasim is 3 : 11. Wasim is 12

years younger than Rehana. Rehana’s age after 7 years will be 85 years. What is the present age
of Manoj’s father who is 25 years older than Manoj ?

(1) 43 years

(2) 67 years

(3) 45 years

(4) 69 years

(5) None of these

Q49. The respective ratio between the present age of Aarti and Savita is 5 : x. Aarti is 9 years
younger than Jahnavi. Jahnavi’s age after 9 years will be 33 years. The difference between
Savita’s and Aarti’s age is same as the presen age of Jahnavi. What will come in place of x ?
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1) 21

(2) 37

(3) 17

(4) Cannot be determined
(5) None of these

Q50. An amount of money is to be divided among P, Q and R in in the ratioof 3:5: 7
respectively. If the amount received by R is Rs 4,000 more than the amount received by Q, what
will be the be total amount received by P and Q together ?

(1) Rs. 8,000

(2) Rs. 12,000

(3) As. 16,000

(4) Cannot be determined

(5) None of these

Solution

Q1. Option(1)

Let the inital seats for Maths Physics and Biology be 5x, 7x and 8x respectively.
Now, new seats for Maths =5xx140100

For physics = 7xx150100

and for biology = 8xx175100

Required ratio

5x%x140100:7x%150100:8xx175100

=5x140:7x150:8 x 175
=2:3:4

Q2. Option (1)

Ratio of rent’s sharing
=8:12:14=4:6:7

Total rent = Rs. 578

Share of Kiara = 717x578= Rs 238

Q3. Option (2)

From the options,

2X + 3x + 4x + 5x = 1400

=>14x = 1400 => x =100

shares are : Rs. 200, Rs. 300.

Rs. 400 and Rs. 500.

Hence, total sum = 200 + 300 + 400 + 500
= Rs. 1400

Q4. Option (1)
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Let the number of students in Arts, Commerce and Science be 3x, 5x and 8x respectively.
On increasing their respective numbers,
Required ratio = 3xx120100:5xx140100:8xx125100

Q5. Option (1)
Let x boys and x girls joined the group.
According to the question,

o 20+4x25+x=78

e 160+8x=175+7x

8x-7x=175-160

e« x=15
New number of members
=20+x+ 25+ x=45+ 2x
=45+2x15=75

Q6. Option (3)
Let the amounts received by A, B, C and D be Rs. 3x, 4x, 9x, and Rs. 10x respectively.
According to the question,
Ox - 4x = 2580
e 5x=2580
e« x=25805=516
Total amount of the money of A and D
= 3x + 10x
=13x =13 x 516 = Rs. 6708

Q7. Option(3)

Let the production of company B = 100 units
Production of company A = 120 units
Production of company C
120x10080=150 units

Required ratio = 120 : 100 : 150
=12:10:15

Q8. Option(5)

Let the original number of students in Arts and Science faculties be 5x and 8x respectively.
According to the question,

5x+1508x+80=34

e 24x+ 240 = 20x + 600
e 4x =360
e x=3604=90

Original number of students

= 5x + 8x = 13x
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=13 x90=1170

Q9. Option(4)
Let the number be x and y respectively
75x100=>5y8

e xy=5810075=56
Q10. Option (1)
X :336 =400 : 192
e X x192 =336 %400
e Xx=336x400192=700

Q11. Option(4)
32a=b2

e 32:a=h:2
e ab=64

Q12. Option(3)
Required Ratio = 5%120100:8x125100:4%130100=5 x 120 : 8 x 125 : 4 x 130
=15:25:13

Q13. Option(5)

let the numbers be x and y respectively.
According to the question
y-xX30100=4y5

e y5=3x10
e xy=103x5=2:3

Q14. Option(4)

Tricky approach

If the largest and the second largest angles be 3x° and 2x°. respectively then, third angle = x
X + 2x + 3x = 180°

x = 30°

Required sum = x + 2x = 3x = 90°

Q15. Option(4)
X + 2x + 5x + 6x = 360°
e 20x =360°
e x=36020=18
e Required answer = 2x2x+7x2
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= 15x2=15x182= 135

Q16. Option(2)
2X + 4x + 7x + 5x = 360°
e 18x=2360°
e x=36018= 20
Smallest angle of the triangle
=2 % 20° =40°
Second angle = 2 x 40° = 80°
Required angle = 180° - 80° - 40° = 60°

Q17. Option(3)
3X + 4x + 6x + 7x = 360°
e 20x =360°
e Xx=18°
smaller angle of the parallelogram = 6x2=3x=540
Adjacent angle of parallelogram
=180° - 54° = 126°

Q18. Option(1)
X + 4x + 5x + 60 = 360°
e 10x=2300°
e Xx°=30
Required difference = 5x - x = 4x
=4 x30=120°

Q19. Option(1)
20x + 73x +83x =950 - 25 - 1530
e 176x=880
e x=880176=5
Number of coins got by Amita = 73x + 15
=73 x5+ 15=2380

Q20. Option(4)
Sum of three angles of a triangle =180°
Largest angle = 13x°
Second largest angle = 12x°
Third angle = (13x + 12x)15 = 5x°
13x + 12x + 5x = 180°

e 30x=180°

e x=18030=6°
Required sum =5x + 12x = 17x = 17 x 6 = 102°
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Q21. Option(4)

Pranab25100 = Surya80100
e PranabSurya=8025=165
e Pranab:Surya=16:5

SuryaDheeru=40100=25

e Surya:Dheeru=2:5
Pranab : Surya : Dheeru
=16x2:5%x2:5x%x5
=32:10:25
Now,
25 = 600000
32 =60000025x%x32
= Rs. 768000 = Pranab’ annual income
Pranab’s monthly salary
=76800012=Rs 64000

Q22. Option(3)

Sum ofthe angles of quadrilateral = 360°
e X+ 06X+ 2x +45=2360°
e 9x=2360-45=315°
e x=3159=35°

Q23. Option(3)
Sum of the angles of a quadrilateral = 360°
3x + 4x + 6x + 5x = 360°
e 8x=2360°
e X=20°
The largest angle ofthe quadrilateral
=6 x 20 =120°
Smaller angle of parallelogram
=120%x23=80°

Q24. Option(3)
If the number of 2-rupee coins be X, then
number of 5 rupee coins =x -5

e 2Xx+5(x-5)=50-26

e 2X+5x-25=24
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o IX=24+25=149
o x=497=7

Q25. Option(5)
If the adjacent angles of parallelogram be 2x° and 3x° respectively, then
2x° + 3x° = 180°
e b5x°=180°
e X°=36°
Smaller angle of parallelogram
=2x=172°
Smallest angle of the quadrilateral = 36°
Its largest angle = 4 x 36 = 144°
Required sum = 144 + 72 = 216°

Q26. Option(3)
Sum of adjacent angles of a parallelogram = 180°
One of the angles of triangle
= 23x180°=120°
Sum of three angles of a triangle = 180°
5x + 7x =180 - 120

e 12x=60

e x=5
Second angle of triangle =5 x 5 = 25°
Third angle of triangle =7 x 5 = 35°
The second largest angle of triangle = 35°

Q27. Option(3)
Sum of angles of a triangle = 180°
o 3X+x+44=180°
e 4x=180-44=136°
o x=1364=34°
Largest angle of triangle = 3 x 34 = 102°
150% of 102 = 102x150100=153°

Q28. Option(2)
For the Parallelogram,
4x° + 5x° = 180°

e 9x=180°

e x=1809=20°
Smaller angel of parallelogram =4 x 20 = 80°
One angle of the quadrilateral = = 3 x 80 = 240°
4y + 11y + 9y = 360 - 240 = 120°

o 24y =120°
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e y=12024=5°

Q29. Option(2)
Sum of the angles of quadrilateral = 360°
3x + 4x + 5x + 6x = 360°

e 18x=2360°

e« x=36018=20°
Smallest angle of quadrilateral = 3 x 20 = 60°
Largest angle of quadrilateral = 6 x 20 = 120°
Smallest angle of triangle = 6023 = 40°
Largest angle of triangle = 2 x 40 = 80°
Third angle of triangle = 180° - 40° - 80° = 60°
Required answer = 60 + 120 = 180°

Q30. Option(3)

The smallest angle of triangle is half of

the largest angle.

Ratio of three angles =4 :3:2

4x + 3x + 2x = 180

9x =180

x=20

Required difference = 4x - 2x = 2x = 2 x 20 = 40°

Q31. Option(4)
Let the three angles of quadrilateral be
13x°, 9x° and 5x° respectively.
13x + 9x + 5x =360 - 36
27x = 324°
o x=32427=12°
Required difference = 13x - 5x = 8x
=8x12=96°

Q32. Option(1)
Let the adjacent angles be 7x° and 8x°.
7x + 8x = 180°
o 15x=180°
o« Xx=12°
Smaller angle =7 x 12 = 84°
Again, 5y + 6y + 7y + 12y = 3600
o 30y =360°
e y=36030=12°

Q33. Option(2)
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Let the present ages of Sulekhaa and Arunima be 9x and 8x years respectively.
According to the question,
After 5 years,
= 9x+58x+5=109
e 81x +45=80x + 50
e 81x-80x=50-45
e X=5
Required difference = 9x - 8x = x = 5 years

Q34. Option(b)
Let the present ages of Sonal and Nitya be 9x and 5x year respectively
According to the question,
= 9x+85x+8=139
e 8lx+ 72 =65x + 104
e 8lx-65x=104-72
o 16x =32
o x=3216=2
Q35. Option (2)

Let the present ages of father and son be 17x years and 7x years respectively.
According to the question,
=17x-67x-6=31
o 21x-18=17x-6
e 21x-17x=18-6
o 4x=12
e X=124=3
Father’s presentage = 17 x 3 =51 years

Q36. Option(4)

Rani : Komal=3:5=6:10

Komal : Pooja=2:3=10:15

Rani : Komal : Pooja=6:10:15
We have insufficient data to solve this
question.

Q37. Option(4)
Let the present ages of Amit and his father be 2x years and 5x years respectively.
2x+45x+4=511

o 25x+20=22x+ 44
e 3IX=24
e X=243=8
Father’s age 5 years ago = 5x - 5
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=5x8-5=35years

Q38. Option(3)
Four years ago,
Shyam : Ram=3: 4
After four years,
3x+84x+8=56

e 20x+40=18x +48
e 2x=48-40=8
e X=82=4
Shyam’s present age = 3x + 4
=3 x4+ 4 =16 years

Q39. Option(2)

Let the prestent ages of Tina and Rakesh be 9x and 10x years respectively.
10 years ago,

9x-1010x-10=45

e 45x-50=40x-40
e 5x=10
. x=105=2
Rakesh’s present age = 10x
=10 x 2 = 20 years.

Q40. Option(3)

Let the present ages of Vishal and Shekhar be 14x and 17x years respectively.
After 6 years,

14x+617x+6=1720

280x + 120 = 289x + 102
9x =18

X=2

Shekhar’s present age = 17x
=17 x 2 = 34 years

Q41. Option(4)

Let the present ages of father and son be 5x and 2x years respectively.
After 4 years,

Son’s age =y years

and mother’s age = 2y years

y=2x+4

x=y-42
Father’s present age = 5y-42 years
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Mother’s present age = (2y - 4) years
Clearly, data is inadequate.

Q42. Option(b)
Let Radha’s present age = x years.
Xx=2(x-12)-3

e X=2X-24-3

o X=27
Raj’s present age =49 x 27 = 12 years
Raj’s age after 5 years = 12 + 5 = 17 years

Q43. Option(5)

Let the present ages of Meena and Fiona be 16x and 13x years respectively.
According to the question,
16x-413x-4=1411

e 176x-44 =182x —56
e 182x-176x =56 — 44
e b6x=12
e X=2
Fiona’s age after four years = 13x + 4 = 13 x 2 + 4 = 30 years

Q44. Option(2)

Let Swati’s present age = 4x years
Trupti’s present age = 5x years
4x+65x+6=67

30x + 36 = 28x + 42
2x=42-36=6
o x =3 =difference of their ages

Q45. Option(3)
Let Ram’s present age be 6x years and that of Rakesh be 11x years.
Four years ago,
6x-411x-4=12

e 12x-8=11x-4

e x=8-4=4
Rakesh’s age after five years = 11x + 5
=11 x4+ 5=49years
Q46. Option(4)
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According to the question,
2x+7x2=27

e WX=27%x2=54

e x=549=6
Mother’s age after 7 years = 7x + 7
=7x6+7=49years

Q47. Option(4)
Let the present ages of Ram, Rohan and Raj be 3x, 4x and 5x years respectively.
3X+4x +5x =3 x 28
o 12x=84
o x=8412=7
Sum of the ages of Ram and Rohan after 5 years
=3x+4x+10=7x+ 10
=7x7+ 10 =59 years

Q48. Option(1)

Rehana’s present age = 85 - 7 = 78 years

Wasim’s present age = 78 - 12 = 66 years
Manoj’s present age =311X66=18 years

Manoj’s father’s present age = 25 + 18 = 43 years

Q49. Option(5)

Jahnavi’s present age = 33 - 9 = 24 years
Aarti’s present age = 24 - 9 = 15 years
Now, Aarti : Savita =5 : x =15 : 3x
Savita’s present age = 3x years
3x-15=24

e 3x=24+15=39

e x=393=13
Q50. Option(3)
Let the amount received by P, Q and R
be Rs. 3x, Rs. 5x and Rs. 7x respectively.
7x - 5x = 4000

e x=40002=2000
Amount received by P and Q together
= 8x = 8 x 2000 = Rs. 16000
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RATIO & PROPORTION

Q1.

Seats for Maths, Physics and Biology are in the ratio of 5 : 7 : 8 respectively. There is a proposal to
Increase these seats by 40%, 50% and 75% respectively. What will be the respective ratio of increased
seats ?

(a)2:3:4

(b)6:7:8

(c)6:8:9

(d) Cannot be determined
(e) None of these

Q2.

Samira, Mahira and Kiara rented a set of DVDs at a rent of Rs. 578. If they used it for 8 hours, 12 hours
and 14 hours respectively, what is Kiara’s share of rent to be paid ?

Rs. 238
Rs. 204
Rs. 192
Rs. 215

None of these

A sum of money is to be divided among four persons in the ratio of 2 : 3 : 4 : 5. Out of the four, one
person gets Rs. 200 more than the other and Rs.100 less than another. What is the sum ?

(a)Rs. 2800

(b)Rs. 1400
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(c)Rs. 4200

(d) Cannot be determined
(e) None of these

Q4.

In a college the number of students studying Arts, Commerce and Science are in the ratioof3:5:8
respectively. If the number of students studying Arts, Commerce and Science is increased by 20%, 40%
and 25% respectively, what will be the new ratio of students in Arts, Commerce and Science respectively
?(a)18:35:50

(b)3:10:10
(c)4:8:5
(d)32:35:25
(e) None of these
Qs.

20 boys and 25 girls form a group of social workers. During their membership drive, the same number of
boys and girls joined the group(e.g. if 7 boys joined, 7 girls joined). How many members does the group
have now, if the ratio of boys to girlsis 7 : 8 ?1

However, in the above question, if we take the ratio of income of Vinay and Arun as 3:5 and the ratio of
their expenses as 3:1, then Arun is saving

(a)75

(b)65

(c)70

(d)60

(e) None of these
Qs.

A sum of money is divided among A, B, Cand D in the ratio of 3:4 : 9 : 10 respectively. If the share of C
is Rs. 2,580 more than the share of B, then what is the total amount of money of A and D together ?.

(a)Rs. 5,676

(b)Rs. 6,192
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(c)Rs. 6,708

(d) Rs. 224

(e) None of these
Q7.

Production of company A is 120% of the production of company B and 80% of the production of
company C, What is the ratio between the productions of companies A, B and C respectively?

(a)6:5:9
(b)6:5:4
(c)12:10:15
(d)10:12:15
(e) None of these
Qs.

Number of students in Arts and Science faculties in an institute are in the ratio of 5 : 8 respectively. If
150 more students join ' Arts faculty while 80 more students join Science faculty, the respective ratio
becomes 3 : 4. Originally what was the total number of students in both faculties together ?

(a)1200 (b)1400 (c)1150

(d) Cannot be determined
(e) None of these

Q9.

75% of a number is equal to 5/8th of another number. What is the ratio between the first number and
the second number respectively?

(a)5:4
(b)6:5
(c)4:5
(d)5:6
(e) None of these

Q1o0.
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In a test, a candidate secured 336 marks out of maximum marks 'x, If the maximum marks ‘x” were
converted into 400 marks, he would have secured 192 marks, What were the maximum marks of the
test ? (a)7001

(b)750

(c)500

(d)650

(e)800 Q11.
Which of the following represents ab = 64 ?
(a)8:a=8:b.
(b)a:16=b:4
(c)a:8=b:8.
(d)32:a=b:2
(e) None of these
Q12.

The ratio of the number of students studying in school A, B and Cis 5 : 8 : 4 respectively. If the number
of students studying in each of the school is increased by 20%, 25% and 30% respectively, what will be
the new respective ratio of the students in school A,Band C? (a) 13:25: 15

(b)20:25:13

(c)15:25:13

(d) Cannot be determined
(e) None of these

Q13.

When 30% of one number is subtracted from another number, the second number reduces to its own
four- fifth. What is the ratio between the first and the second numbers respectively?

(a)4:7
(b)3:2
(c)2:5
(d) Cannot be determined

(e) None of these:
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Q14.

The largest and the second largest angles of a triangle are in the ratio of 3 : 2 respectively. The smallest
angle is 20% of the sum of the largest and the second largest angles. What is the sum of the smallest and
the second largest angles ?

(a)80

(b)60

(c)100

(d)90

(e) None of these

Q15s.

The ratio between the angles of a quadrilateral is 7 : 2

: 5 : 6 respectively. What is the sum of double the smallest angle and half the largest angle of the
guadrilateral?

(a)162

(b)198

(c)99

(d)135

(e) None of these

Q1le.

The angles of a quadrilateral are in the ratioof2:4:7

: 5. The smallest angle of the quadrilateral is equal to the smallest angle of a triangle. One of the angles
of the triangle is twice the smallest angle of the triangle. What is the second largest angle of the
triangle? (a)80

(b)60

(c)120

(d) Cannot be determined
(e) None of these

Q17.

The ratio between the angles of a quadrilateral is 3 : 4
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: 6 : 7. Half the second largest angle of the quadrilateral is equal to the smaller angle of a parallelogram.
What is the value of adjacent angle of the parallelogram ?

(a)136

(b)126

(c)o4

(d)96

(e) None of these
Q18.

The ratio between the three angles of a quadrilateral is 1 : 4 : 5 respectively. The value of the fourth
angle of the quadrilateral is 60. What is the difference between the value of the largest and the smallest
angles of the quadrilateral ?

(a)120

(b)90

(c)110

(d)100

(e) None of these
Q19.

Mr. Pandit owned 950 gold coins all of which he distributed amongst his three daughters Lalita, Amita
and Neeta. Lalita gave 25 gold coins to her husband, Amita donated 15 gold coins and Neeta made
jewellery out of 30 gold coins. The new respective ratio of the coins left with them was 20 : 73 : 83. How
many gold coins did Amita receive from Mr. Pandit?

(a)380
(b)415
(c)400
(d)350
(e) None of these

Q20.
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The largest and the second largest angles of a triangle are in the ratio of 13 : 12 respectively. The
smallest angle is 20% of the sum of the largest and the second largest angles. What Is the sum of the
smallest and the second largest angles ?

(a)a20

(b)108

(c)100

(d)102

(e) None of these
Q21.

Twenty five percent of Pranab’s annual salary is equal to eighty percent of SuRya’s annual salary. Surya’s
monthly salary is forty percent of Dheeru’s monthly salary. If Dheeru’s annual salary is Rs. 6 lacs, what is
Pranab's monthly salary ?

(a)Rs. 7.68 lacs
(b)Rs. 56,000
(c)Rs. 8.4 lacs
(d)Rs. 64,000

(e) None of these
Q22.

The ratio between the three angles of a quadrilateral is 1 : 6 : 2 respectively. The value of the fourth
angle of the quadrilateral is 45. What is the difference between the value of the largest and the smallest
angles of the quadrilateral ?

(a)165

(b)140

(c)175

(d)150

(e) None of these

Q23.

The ratio between the angles of a quadrilateral is 3 : 4

16 : 5. Two-third of the largest angle of the quadrilateral is equal to the smaller angle of a parallelogram.
What is the value of adjacent angle of the parallelogram ?

(a)a120
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(b)110
(c)100
(d)130
(e) None of these

Q24.

Rohit has some 50 paisa coins, some 2 rupee coins, some 1 rupee coins and some 5 rupee coins. The
value of all the coins is Rs. 50. Number of 2 rupee coins is 5 more than that of the 5rupeecoins. 50 paisa
coins are double In number than 1 rupee coins. Value of 50 paisa coins and 1 rupee coins is Rs. 26, How
many 2 rupee coins does he, have?

(a)4
(b)2
(c)7
Cannot be determined

None of these

The ratio between the adjacent angles of a parallelogram is 2 : 3 respectively. Half the smaller angle of
the parallelogram is equal to the smallest angle of a quadrilateral. Largest angle of quadrilateral is four
times its smallest angle. What is the sum of largest angle of quadrilateral and the smaller angle of
parallelogram?

(a)252

(b)226

(c)144

(d)180

(e) None of these
Q26.

One of the angles of a triangle is two-third of sum of adjacent angles of parallelogram. Remaining angles
of the triangle are in ratio 5 : 7 respectively. What is the value of second largest angle of the triangle ?

(a)25
(b)40

(c)35
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(d) Cannot be determined
(e) None of these
Q27.

The largest and the smallest angles of a triangle are in tile ratio of 3 : 1 respectively. The second largest
angle of the triangle is equal to 44. What is the value of 150 percent of the largest angle of the triangle?

(a)149

(b)129

(c)153

(d)173

(e) None of these
Q28.

One of the angles of a quadrilateral is thrice the smaller angle of a parallelogram. The respective ratio
between the adjacent angles of the parallelogramis 4 :

5. Remaining three angles of the quadrilateral are in

ratio 4 : 11 : 9 respectively. What is the sum of the largest and the smallest angles of the quadrilateral?
(a)255

(b)260

(c)265

(d)270

(e) None of these
Q29.

Smallest angle of a triangle is equal to two-third of the smallest angle of a quadrilateral. The ratio
between the angles of the quadrilateral is 3 : 4 : 5 : 6. Largest angle of the triangle is twice its smallest
angle. What is the sum of second largest angle of the triangle and largest angle of the quadrilateral?

(a)160
(b)180

(c)190
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(d)a7o
(e) None of these
Q30.

The largest and the second largest angles of a triangle are In the ratio of 4 : 3 respectively. The smallest
angle Is half the largest angle. What Is the difference between the smallest and the largest angles of the
triangle?

(a)30
(b)60
(c)40
(d)20
(e) None of these ’
Q31.

The ratio between the three angles of a quadrilateral is 13 : 9 : 5 respectively. The value of the fourth
angle of the quadrilateral is 36. What is the difference between the largest and the second smallest
angles of the quadrilateral?

(a)104

(b)108

(c)72

(d)96

() None of these
Q32.

The ratio between the adjacent angles of a parallelogram is 7 : 8 respectively. Also the ratio between the
angles of quadrilateral is 5: 6 : 7 : 12. What is the sum of the smallest angle of parallelogram and second
largest angle of the quadrilateral?

(a)168
(b)228

(c)156

(d)224

(e) None pf these
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Q33.

The age of Sulekha and Aruni-ma are in the ratio of 9 : 8 respectively. After 5 years the ratio of their age
will be 10 : 9. What is the difference (in years) between their age?

(a) 4 years
(b) 5 years
6 years
7 years

None of these

The age of Sonal and Mitya are in the ratio of 9 : 5 respectively. After 8 years the ratio of their age will
be 13 : 9. What is the difference (in years) between their age ?

(a) 4 years

(b) 12 years

(c) 6 years

(d) 14 years

(e) None of these
Q35.

The ratio of the age of a father and son is 17 : 7 respectively. 6 years ago the ratio of their age was 3 : 1
respectively. What is the father’s present age ?

64 yrs
51 yrs
48 yrs
Cannot be determined

None of these

Ratio of Rani’s and Komal's age is 3 : 5 respectively. Ratio of Komal's and pooja's age is 2 : 3 respectively.
If Rani is two-fifth of, Pooja's age, what is Rani’s age ?

(a) 10 years

(b) 15 years
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(c) 24 years

(d) Cannot be determined

(e) None of these

Q37.

Present age of Amit and his father are in the ratio of 2

: 5 respectively. four years hence the ratio of their age becomes 5 : 11 respectively. What was father’s
age five years ago ?

40 years
45 years
30 vyears
35 years

None of these

Q38.

Four years ago Shyam's age was % times that of Ram. Four years hence, Shyam's age will be 5/6 times
that of Ram. What is the present age of Shyam ?

15 years
20 years
16 years
24 years

8 years

The ratio of the age of Tina and Rakesh is 9 : 10 respectively. Ten years ago the ratio of their age was 4
: 5 respectively. What is the present age of Rakesh ?
(a) 25 years

(b) 20 years
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(c) 30 years

(d) 24 years

(e) None of these
Q40.

The present age of vishal and Shekhar are In the ratio of 14 : 17 respectively. Six years from now, thier
age will be in the ratio of 17 : 20 respectively, What is

Shekhar’s present age ?
17 years
51 years
34 years
28 years

None of these

The ratio between the age of a father and a son at present is 5 : 2 respectively. Four years hence the
ratio between the age of the son and his mother will be 1 : 2 respectively. What is the ratio between the
present age of the father and the mother respectively

?

(a)3:4

(b)5:4

(c)4:3

(d) Cannot be determined
(e) None of these

Q42.

Radha’s present age is three years less than twice her age 12 years ago. Also the respective ratio
between Raj’s present age and Radha’s present age is 4 : 9.What will be Raj'S age after 5 years ?

(a) 12 years
(b) 7 years
(c) 21 years

(d) Cannot be determined
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(e) None of these

Q43.

The ratio of the present age of Meena and Fiona is 16 : 13 respectively. Four years ago the respective
ratio of their age was 14 : 11. What will be Fiona's age four years from now ?

28 years
32 years
26 years
36 years

None of these

The respective ratio of the present age of Swati and Trupti is 4 : 5. Six years hence the respective ratio of
their age will be 6 : What is the difference between their age?

(a) 2 years
3 years
4 years
Cannot be determined
None of these
Q45.

The respective ratio between the present age of Ram and Rakeshis 6 : 11. Four years ago the ratio of
their age was 1 : 2 respectively. What will be Rakesh’s age after five years?

45 years
29 years
49 years
Cannot be determined

None of these

The respective ratio between the present age of son, mother, father and grandfatheris2:7:8:12. The
average age of son and mother Is 27 years. What Will be mother’s age after 7 years?
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40 years

41 years

48 years

49 years

None of these
Q47.

The respective ratio between the present age of Ram, Rohan and Rajis 3 : 4 : 5. If the average of their
present age is 28 years then what would be the sum of the age of Ram and Rohan together after 5
years?

45 years
55 years
52 years
59 years

None of these

Q48.

The respective ratio between present age of Manoj and Wasim is 3 : 11. Wasim is 12 years younger than
Rehana. Rehana’s age after 7 years will be 85 years. What is the present age of Manol's father who is 25
years older than Manoj ?

43 years

67 years

45 years

69 years

None of these
Q49.

The respective ratio between the present age of Aarti and Savita Is 5 : x. Aarti Is 9 years younger than
Jahnavi. Jahnavi’s age after 9 years will be 33 years. The difference between Savita’s and Aarti’s age is
same as the present age of Jahnavi. What will ( come in place of x ?)
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(a)21

(b)37

(c)17

(d) Cannot be determined.
(e) None of these

Q50.

An amount of money is to be divided among P, Q and R in the ratio of 3 : 5 : 7 respectively. If the amount
received by R is Rs.4,000 more than the amount received by Q, what will be the total amount received
by P and Q together ?

(a)Rs. 8,000

(b)Rs. 12,000

(c)Rs. 16,000

(d) Cannot be determined
(e) None of these

Q51.

Rita Invested 25% more than Sunil. Sunil invested 30% lessthan Abhinav who invested Rs. 6,000. What is
the respective ratio between the amount that Rita invested and the total amount invested by all of them
together ?

(a) 35:104

(b) 13:29
(c)101:36
(d)35:103

(e) None of these
Q52.

When X is subtracted from the numbers 9, 15 and 27, the remainders are In continued proportion. What
is the value of X?

(a)8

(b)6

(c)4

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

(d)5
(e) None of these
Q53.

A certain amount was to be distributed among A, B and C in the ratio 2 : 3 : 4 respectively, but was
erroneously distributed in the ratio 7 : 2 : 5 respectively. As a result of this, B got Rs. 40 less. What is the
amount?

(@)  Rs.210
Rs. 270
Rs.230
Rs. 280

None of these

A particular sum was divided among A, B and C in the ratio 2 : 6 : 7 respectively. If the amount received
by A was Rs. 4,908, what was the difference between the amount received by B and C ?

(a)Rs. 2,454
(b)Rs. 3,494
(c)f2,135

(d)Rs. 2,481

(e) None of these
Q55.

The average age of a man and his son is 30 years. The ratio of their age four years ago was 10 : 3
respectively. What is the difference between the present age of the man and his son?

(a) 28 years

(b) 16 years

(c) 26 years

(d) 44 years

(e) None of these
Q56.

A sum of Rs. 221 is divided among X, Y and Z such that X gets Rs. 52 more than Y. Y gets % 26 more than
Z. The ratio of the shares of X, Y and Z respectivelyis:(a)9:5:3
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(b)9:3:5
(c)5:9:3
(d)10:6:5

(e) None of these
Q57.

The average weight of boys in a class is 45 kg while that of girls Is 36 kg. The average weight of the whole
class is 42.25 kg. What is the respective ratio between the number of boys and girls in the class?

(a) 11:25

(b) 25 :11
(c)25:12
(d)12:25

(e) None of these
Q58.

If 50% of a certain number is equal to 3/4th of another number, what Is the ratio between the numbers?
(a)3:2

(b)2:5

(c)5:2

(d)3:

(e)4:

Q59.

The ratio of the present age of Mahesh and Ajay is respectively 3 : 2. After 8 years, ratio of their age will
be 11 : 8. What will be the present age of Mahesh's son if his age is half of the present age of Ajay?

(a) 12 years
(b) 24 years

(c) 18 years
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(d) 9 years
(e) None of these
Q60.

A vessel contains 64 litres of mixture of milk and water In the ratio 7 : 3 respectively. 8 litres of mixture
Is replaced by 12 litres of milk. What is the ratio of milk and water In the resulting mixture 7

(a)64:21

(b) 35:22
(c)64:23
(d)e5:21

(e) None of these
Q61.

There was a science exhibition in an auditorium. On the first day 14 persons visited the exhibition, on
the second day 12 persons and on the third day only 10 persons visited the exhibition. The ratio of
admission fees collected from each of them on these days was 2 : 3 : 5 respectively. If the total amount
collected on these three days was Rs. 4560, what amount was collected on the first day ?

(a)Rs. 1120
(b)Rs. 1140
(c)Rs. 1150
(d)Rs. 1160

(e) None of these
Q62.

The ratio of present ages of P and Q is 8 : After 4 years their ages will be in the ratio 4 : 3 respectively.

What will be the ratio of P’s age after 7 years from now and Q's age now?
(a)3:2
(b)1:2
(c)2:1
(d)3:1

(e) None of these
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Q63.

15 years ago the average age of a family of four members was 40 years. Two children were bom in that
span of 15 years. The present average age of the family remained unchanged. Among the two children
who were bom in between the 15 years. If the older child at present is 8 years more than the younger
one, what is the respective ratio between the present age of the older child and the present age of the
younger child 7

(@)9:4
(b)7:3
(c)7:
(d)7:
(e)9:
Q64.

4 years ago, the respective ratio between % of A’s age at that time and four times of B’s age at that time
was 5 : 12. Eight years hence 1/2 of A’s age at that time will be less than B’s age at that time by 2 years.
What is B’s present age 7

10 years
14 years
12 years
5 years

8 years

The present age of Bob is equal to Abby's age 8 years ago. Four years hence, the respective ratio
between Bob’s age and Abby's age will be 4 : 5 at that time.

What is Bob’s present age?
24 years
32 years
40 years
20 years

28 years

Respective ratio between total number of students studying in College A and College B is 5 : 8. In College
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B. out of the total number of students, 5/8th is boys, out of which 60% study Commerce and the
remaining 800 boys study in other streams. What is the total number of students In College A ?

(a)1500 (b)2500 (c)1200 (d)4000 (e)2000 Q67.

At present the respective ratio between the ages of Aand B is 3 : 4 and that between Aand Cis 1: 2. Six
years hence, the sum of ages of A, B and C will be 96 years. What is the present age of A?

(a)
(b)
(c)
(d)
(e)

Q68.

12 years
21 years
18 years
15 years

9 years

B is 8 years older than A and 8 years younger than C. 12 years hence, respective ratio of the ages of A
and C will be 5 : 9. What is the sum of present ages of A, Band C?

58 years
'46 years
48 years
60 years

None of these

B’ is 3 years older than A’ and’B’ is also 3 years

younger than ‘C’.’3 years hence, the respective ratio between the ages of A and G will be 4 : 5. .What is
the sum of the present ages of A, B and C?

48 years
56 years
63 years

84 years
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(e) 72 years
Q70.

The present ages of Ranjana and Rakhl are in the ratio of 15 : 17 respectively. After 6 years, the
respective ratio between the age of RanjanaandRakhi will be 9 : 10.What will be the age of Ranjana after
6 years?

Other than those given as options
40 years
34 years
30 years

36 years

If 7 boys and 2 men working together can do three times as much work per hour as a boy and a man
together, what will be the respective ratio of work done by a boy and a man for the given time?

(a)3:
(b)1:
(c)1:
(d)2:
(€)1:
Q72.

At present, the respective ratio between the ages of Aand B is 3 : 4 and that between A and Cis 1: 2. Six
years hence, the sum of the ages of A, B and C will be 96 years. What is the present age ofA?

(a) 12 years
(b) 21 years
(c) 18 years
(d) 15 years
(e) 9 years
Q73.

Four years ago, the respective ratio between the age of Ram and that of Sonu, was 4 : 9. Tina is ten
years older than Ram. Tina is ten years younger than Sonu. What is Tina's present age ?
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40 years

36 years

30 vyears

20 years

42 years
Q74.

When a number is added to a second number, the sum is 1000/3 percent of the second number. What is
the ratio between the first number to the second number?

(a)3:7

(b)7:4

(c)7:3

(d) Data inadequate
(e) None of these
Q75.

A sum of money is to be distributed among F, Q and R in the ratio 6 : 19 : 7. If R gives 200 from his share
to Q, the ratio of P, Q and R becomes 3 : 10 : 3, what is the total sum?

(a)Rs. 6400

(b)Rs. 12800

(c)Rs. 3200

(d) Data inadequate
(e) None of these
Q76.

In a school the number of boys and that of the girls are In the respective ratio of 2 : 3, If the number of
boys is increased by 20% and that of girls is increased by 10%, what will be the new ratio of number of
boys to that of the girls ?
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(b)5:8
(c)3:4
(d) Data inadequate
(e) None of these
Q77.
.Income of two companies A and B are in the ratio of 5
: 8. Had the income of company A' been more by Rs.
25. lakhs, the ratio of their income would have been 5
: 4 respectively. What is-the income of company ‘B’ ?
Rs. 80 lakhs
Rs. 50 lakhs
Rs. 40 lakhs
Rs. 60 lakhs

None of these

Ratio of the earnings of A and B is 4 : 7 respectively. If the earnings of A increase by 50% and the
earnings of B decrease by 25% the new ratio of their earnings becomes 8 : 7 respectively. What are A's
earnings ? (a)Rs. 26,000

(b)Rs. 28, 000

(c)Rs. 21,000,

(d) Data inadequate
(e) None of these
Q79.

Salaries of A, Band C are in the ratio of 2 : 3 : 5 respectively. If their salaries were increased by 15%, 10%
and 20% respectively what will be the new respective ratio of their salaries ? .

(a)3:3:10
(b) 23:33:60
(c)10:11:20

(d) Can’t be determined
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(e) None of these
Q80.

Present age of Seema and Naresh are in the respective ratio of 5 : 7. Five years hence the ratio of their
age becomes 3 : 4 respectively. What is Naresh’s present age

(a)25

(b)4ao

(c)30

(d) Can not be determined
(e) None of these

Q81.

A and B together can complete atask in 15 days. B and C together can complete the same task in 20
days. A and C together can complete the same task in 30 days'. What is the respective ratio of the
number of days

taken by A while completing the same task alone to the number of days taken by C while completing the
same task alone?

(@)2:3

(b)1:4
(c)(3)1:3
(d)3:1

(e) None of these
Qs2.

A sum of money Is divided among A, B, Cand D in the ratio of 3:5: 9 : 13 respectively. If the share of C
is Rs. 2412 more than the share of A, then what is the total amount of money of B and D together ?

(a)Rs. 4422

(b)Rs. 7236

(c)Rs. 6030

(d)Rs. 4,824

(e) None of these

Q83.
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The age of Khushi and Jagriti are in the ratio of 5 : 8 respectively. After 8 years the ratio of their age will
be 3 : 4. What is the difference in their age ?

(a) 16 years
8 years
10 years
12 years
None of these
Q84.
The respective ratio of, the present age of a mother and daughter is 7 : 1. Four years ago the respective
ratio of their age was 19 : 1. What will be the mother’s age four years from now?
(a) 42 years
(b) 38 years
(c) 46 years
(d) 36 years
(e) None of these
Q85.

Mr. X invested a certain amount in Debit and Equity funds in the ratio of 4 : 5 respectively. At the end of
one year, he earned a total dividend of 30% on his investment. After one year he reinvested the amount
including dividend in the ratio of 6 : 7 in Debit and Equity Funds. If the amount reinvested in Equity
Funds was Rs. 94, 500, what was the original amount invested in Equity Funds ?

(a)Rs. 75,000
(b)Rs. 81,007
(c)Rs. 60,000

(d)Rs. 65,007

(e) None of these
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ANSWERS :

1.(1) Let the initial seats for Maths, Physics and Biology be 5x, 7x, and 8x respectively,
Now, new seats for Maths

= 5x x 140/100

For physics = (7x x 150/100) and for Biology = 8x x 175/100

-~ Required ratio

= (5x x 140)/100 : 7x x 150/100 : 8x x 175/100

=5x140:7x150:8 x 175

=2:3:4

2.(1) Ratio of rent’s sharing
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=8:12:14=4:6:7

Total rent = Rs. 578 Share of Kiara

=7/17 x 578 =Rs. 238

3.(2) From the options, 2x + 3x + 4x+ 5x = 1400

= 14x = 1400 x= 100

-~ shares are : Rs. 200, Rs. 300, Rs. 400 and Rs. 500,

Hence, total sum =200 + 300 + 400 + 500 = Rs. 1400 4.(1) Let the number of students in Arts, Commerce
and Science be 3x, 5x and 8x respectively,

On increasing their respective numbers, Required ratio
=3xx 120/100 : 5x x 140/100 : 8x x 125/100
=360:700:1000=18:35:50

5.(1) Let x boys and x girls joined the group. According to the question,
(20+x)/(25 +x)=7/8

=160+ 8x =175+ 7x

=8x—-7x=175-160

=x=15

= New number of members

=20+x+25+x=45+2x

=45+2x15=75

6.(3) Let the amount received by

A, B, Cand D be Rs. 3x, 4x, 9x and Rs. 10x respectively.

According to the question, 9x — 4x = 2580

=5x = 2580

x =2580/5 =516

Total amount of the money of A and D = 3x + 10x

=13x =13 x 516 = Rs. 6708
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7.(3) Let the production of company B = 100 units

~ Production of company A = 120 units Production of company C
=120 x 100/80 = 150 units

-~ Required ratio

=120:100: 150

=12:10:15

8.(5) Let the original number of students in Arts and Science faculties be 5x and8x respectively.
According to the question.

5x +150/8x + 80 = %

=24x + 240 = 20x + 60 4x + 240 = 20x + 600

=4x =360

=x =360

=x360/4=90

-~ Original number of students = 5x + 8x = 13x

=13x90=1170

9.(4) Let the number be x and y respectively.

=~ 75x/100 = 5y/8

=x/y = 5/8 x 100/75

=5/60r5:6

10.(1) x : 336 =400 : 192

=xx 192 =336 x 400

x =336 x 400/192 =700 11.(4) 32/a = b/2 = ab = 64 12.(3) Required ratio
=5x120/100: 8 x 125/100 : 4 x 130/100
=5x120:8x125:4x130

=15:25:13

13.(5) Let the number be x and y respectively,

According to the question

y — x x 30/100 = 4/5y = y/5 = 3x/10
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—>x:y=10/(3x5)=2:3

14.(4) (Tricky approach)

If the largest and the second largest angles be 3x” and 2x°, respectively then,
third angle = x

-~ Required sum

=X+ 2x =3x =90" 15.(4) [Tricky approach] 7x + 2x + 5x+ 6x = 360°
= 2x = 360°

=x=360/20=18

~ Required answer = 2 x 2x + 7x/2

=15x/2=15x%18/2 =135°

16.(2) 2x + 4x + 7x + 5x = 360°

=18x =360"

x=360°/18 =20°

~ Smallest angle of the triangle

=2x20°=40°

Second angle =2 x 40° = 80°

= Required angle

=180"-80°-40" =60°

17.(2) 3x + 4x + 6x + 7x = 360°

=20x = 360"

x=18"

-~ Smaller angle of the parallelogram
=6x/2=3x=54"

-~ Adjacent angle of parallelogram
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=180°-54"=126"

18.(1) x + 4x + 5x + 60 = 360°

=10x=300"x =30

-~ Required difference = 5x — x

=4x=4x30=120°

19.(1) 20x + 73x + 83x

=950-25-15-30

=176x = 880

x =880/176=5

~ Number of coins got by Amita
=73x+15=73 x5+ 15 =380

20.(4) Sum of three angles of a triangle = 180° Largest angle = 13x
Second largest angle = 12x

~ Third angle

=(13x + 12x) x 1/5 = 5x

~ 13x+ 12x + 5x = 180°

=30x = 180°

=x=180/30=6"

~ Required sum = 5x + 12x

=17x=17 x 6 =102"

21.(4) Pranab x 25/100 = Surya x 80/100

= Pranab/ Surya = 80/25 = 16/5 Pranab : Surya = 16: 5
Surya/ Dheeru = 40/100 = 2/5 Surya : Dheera=2:5
Pranab : Surya : Dheeru

=16x2:5%x2:5x%x5

=32:10:25

Now,

~ 25 =600000
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~ 32 =600000/25 x 32

= Rs. 768000 = Pranab’ annual income

~ Pranab’s monthly salary

=768000/12 = Rs. 64000

22.(3) Sum of the angles of quadrilateral = 360°
=X+6x+2x+45 =360

=9x=360-45=315

=x=315/9=35

23.(3) Sum of the angles of a quadrilateral = 360°

& 3x + 4x + 6x +5x = 360°

=18x = 360"

x=20°

-~ The largest angle of the quadrilateral = 6 x 20 = 120°
~ Smaller angel of parallelogram

=120x2/3 =80°

~ Its adjacent angle

=180-80=100°

24.(3) If the number of 2 rupee coins be x, then number of 5 rupee cons = x-5
% 2x+5(x-5)=50-26

=2x+5x—25=24

=7x=24+25=49

x=49/7=7

25.(5) Let the adjacent angles of parallelogram be 2x” and 3x” respectively, then
2x° + 3x" = 180°

=5x"=180"=x"=36"

~ Smallest angle of parallelogram

=2x=72°
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= smallest angle of the quadrilateral = 36°
-~ Its largest angle = 4 x 36 = 144°

~ Required sum =144 + 72 = 216°

26.(3) Sum of adjacent angles of a parallelogram = 180°
~ One of the angles of triangle
=2/3x180° =120°

Sum of three angles of a triangle

=180° .~ 5x + 7x =180 - 120

=12x =60

x=5

Second angle of triangle

=5x5=25"

Third angle of triangle

=7x5=35"

~ The second largest angle of triangle
=35°

27.(3) Sum of angles of a triangle = 180°
=3x+x+44=180
=4x=180-44=136x=136/4=34

-~ Largest angle of triangle

=3x34=102"

~ 150% of 102 = 102 x 150/100 = 153
28.(2) For the Parallelogram, 4x” + 5x° = 180°
=9x =180

x =180/9 =20

Smaller angle of parallelogram
=4x20=280°

-~ One angle of quadrilateral
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=3x80=240°

Now, 4y + 11y + 9y
=360-240=120

=24y =120

=y=120/24=5

= Its smallest angle
=4x5=20°

~ Required sum

=240° +20° = 260°

29.(2) Sum of the angles of quadrilateral = 360°
~ 3x +4x + 5x + 6x = 360
=18x =360

x =360/18 = 20

-~ Smallest angle of quadrilateral = 3 x 20 = 60°
Largest angle of quadrilateral
=6x20=120°

-~ smallest angle of triangle
=60x2/3=40°

Largest angle of triangle
=2x40=80°

=~ Third angle of triangle
=180°-40°-80° =60°

-~ Required sum

=60+ 120=180°

30.(3) The smallest angle of triangle is half of the largest angle.
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- Ratio of three angles=4:3:2

Now, 4x + 3x + 2x = 180

=9x =180

=x=20

~ Required difference

=4x+3x+2x =180

=9x =180 x= 20

~ Required difference

=4x—2x = 2x

31.(4) Let the three angle of quadrilateral be 13x° 9x + 5x = 360 — 36
27x =324 =x=324/27 =12

-~ Required difference

=13x—-5x=8x=8x12=96"

32.(1) Let the adjacent angles be 7x° + 8 = 180
=15x=180x =12

- Smaller angle =7 x 12 = 84° Again, 5y + 6y + 7y + 12y = 360°
=30y =360’

y=360"/30=12°

-~ Second largest angle of ht quadrilateral =7 x 12 = 84°

~ Required sum =84 + 84 = 168°

33.(2) Let the present age of Sulekha and Arunima be 9x and 8x years respectively.
According to the question,

After 5 years, (9x + 5)/(8x + 5)

=10/9

=81x+45=80x+50

=81x—80x=50-45

X =5 years

34.(5) Let the present age of Sonal and Nitya be 9x and 5x years respectively
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According to the question

=(9x + 8)/(5x + 8) = 13/9
=81x+72=65x+104
=81x—65x=104-72

=16x =32

x=32/16=2

~ Required difference = 9x — 5x
=4x =4 x 2 =8 years

35.(2) Let the present age of father and son be 17x years and 7x years respectively.
According to the question.

(17x - 6)/(7x-6) =3/1
=21x-18=17x-6
=21-17x=18-6

=4x =12

x=12/4=3

-~ Father’s present age

=17 x3 =51 years

36.(4) Rani: Komal=3:5=6:10
Komal : Pooja=2:3=10:15

-~ Rani : Komal : Pooja=6:10:15

We have insufficient data to solve this questions.

37.(4) Let the present age of Amit and his father be 2x years and 5x years respectively.
~ (2x +4)/(5x + 4) =5/11

=25x+20=22x+44

=3x=24

x=24/3=8

-~ Father’s age 5 years ago
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=5x—-5=5x8—-5=35years

38.(3) Four years ago, Shyam : Ram = 3 : 4 After four years,

(3x+ 8)/(4x +8) =5/6

=20x+40=18x+482x=48-40=8

=x=8/2=4

~Shyam’s present age =3x + 4

=3 x4 +4=16years

39.(2) Let the present age of Tina and Rakesh be 9x and 10x years respectively.
10years ago,

(9x — 10)/(10x - 10) = 4/5

=45x — 50 = 40x — 40 5x = 10

x=10/5=2

-~ Rakesh’s present age

=10x =10 x 2 = 20 years

40.(3) Let the present age of Vishal and Shekhar be 14x and 17 years respectively.
After 6 years

=(14x+ 6)/(17x + 6) =17/20

=280x+120=9x =18 x=18/9=2

=Shekhar’s present age

=17 x 2 =34 years

41.(4) Let the present age of father and son be 5x and 2x years respectively,
After4 years,

Son’s age =y years

and mother’s age= 2y years Now, y = 2x + 4

=x(y-4)/2

-~ Father’s present age

=5(y - 4)/2 years Now, y =2x + 4

=x=(y—4)/2
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-~ Father’s present age

= 5(y-4)/2 Years Mother’s present age
=(2y - 4) years

Cleary, data are inadequate.

42 .(5) Let Radha’s present age

=X years

- Raj’s present age = 4/9 x 27

=12 years

=~ Raj’s age after 5 years

43.(5) Let the present age of Meena and Fiona be 16x and 13x year respectively.
According to the question,

(16x - 4)/(13x- 4)

=14/11

=176x—-44 =182x - 56

=182x—-176x=56—-44
=6x=12

=x=2

-~ Fiona’a age after four years
=13x+4

=13x2+4=30years

44.(4) Let Swati’s present age
=4x years

Trupati’s present age = 5x years
= (4x+ 6)/(5x+ 6)

=6/7
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=30x+36=28x+42

=2x=42-36=6

= x = 3 = difference of their age

45.(3) Let Ram’s present age be 6x years and that of Rakesh be 11x years.
Four year ago,

(6x-4)/(11x-4) =%
=12x—8=11x-4x=8-4=4

-~ Rakesh’s age after five years

=11x+5

=11x4+5=49 years

46.(4) According to the question, (2x + 7x)/2 = 27
=9x=27%x2=54x=54/9=6

~ Mother’s age after 7 Years

=7x+7=7x6+7 =49 years 47.(4) Let the present age of Ram, Rohan and Raj be 3x, 4x and 5x years
respectively.

S 3x+4x+5x=3x28

=12x=84

=x=84/12=7

Sum of the age of Ram and Rohan after 5 years
=3x+4x+10=7x+10
=7x7+10 =59 years

48.(1) Rehana’s present age

= 85— 7 =78 years Wasim’s present age
=78—-12 =66 years

= Manoj’s present age

=3/11 x 66 = 18 years

49.(5) Jahnavi’s present age

=33-9=24 years
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~ Aarti’s present age

=24 -9 =15 years Now, Aarti : Savita
X

=15:3x

~ Savita’s present age

= 3x years

~3x—15=24

=3x=24+15=39

=x=39/3=13

50.(3) Let the amount received by P, Q and R be Rs. 3x, Rs. 5x and Rs. 7x respectively.

~ 7x —5x = 4000

x =4000 /2 =2000

~ Amount received by P and Q together = 8x

=8 x 2000 = Rs. 16000

51.(4) Abhinav’s investment

= Rs. 6000

Sunil’s investment = 70 x 6000/100
=Rs. 4200

Rita’s investment = 4200 x 125/100
=Rs. 5250

~ Required ratio

=5250: (6000 + 4200 + 5250)

=5250:15450=35:103

52.(5) (9 -x)/(15 - x) = (15 - x)/(27 - x)
=243 -9x—27x+x2 225 -30x + x2

=6x=243-225=18

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

=x=3

53.(1) Let the amount be Rs. x,

~(3/9-2/14)x =40
=(1/3-1/7)x=40=(7-3/21)x =40

=x = (40 x 21)/4 = Rs. 210

54.(1) If the total amount be Rs. x1, then 2x/15 = 4908
X = (4908 x 15)/2 = Rs. 36810

~ Required difference

=7-6/15 x 36810 = Rs. 2454

55.(1) Four years ago,

Let, Father’s age = 10x years Son’s age = 3x years
~ 10x+3x+8 =60

=13x=60-8=52

=x=4

~ Required difference

=7x=7 x4 =28 years

56.(1) x=y + 52

z=y-26

Sx+Y+z=221

=y+52+y+y—26=221

=3y=221-26=195

y=195/3=65

~X=65+52=117

z2=65-26=39

S X:y:z=117:65:39

=9:5:3

57.(2) Number of boys = x (let) Number of girls =y (let)

. (45 xx+36xy)/(x+y)
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=42.25

= 45x + 36y = 42.25x + 42.25y

= 45x — 42.25x = 42.25y — 36y

=2.75x = 6.25y

=x/y =6.25/2.75 =25/11

58.(1) Let, First number = x Second number =y
% Xxx50/100 =y x %

=x/2=yx%

=x/2=%x2=3/20r3:259.(1) Let, Mahesh = 3x years Ajay = 2x years
After 8 years,

(3x+8)/(2x+8) =11/8

=24x + 64 =22x + 88

2x=88-64=24

=x=12

~ Ajay’sage=2x=2x12
= 24 years

=~ Age of Mahesh’s son
=% x 24 =12 years

60.(1) In 64 litres of mixture, Milk = 7/10 x 64 = 44.8 litres Water = 64 —44.8 = 19.2 litres In 8 litres of
mixture,

Milk = 7/10 x 8 = 5.6 litres Water = 2.4 litres
In resulting mixture milk =44.8 -5.6 + 12
=51.2 litres

Water=19.2-2.4

= 16.8 litres
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-~ Required ratio = 51.2 : 16.8

=64:21

61.(1) Ratio of amount collected
=(14x2):(12%x3):(10x5)

=28:36:50=14:18:25

Sum of ratio =14 + 18 + 25

=57

~ Amount colleted on day one

=14/57 x 4560 =Rs. 1120

62.(4) P’s present age = 8x years Q’s present age = 5x years
After 4 years,

(8x +4)/(5x +4) = 4/3

=24x+12=20x + 16

=24x—-20x=16-12

=4x=4

x=1

P’s age 7 years hence =8x + 7

=8+ 7 =15years

Required ratio=15:5=3:1

63.(2) Present age of younger child = x years Present age of older child
= (x + 8) years

Sum of the present ages of 4 member family

= (4 x40 + 4x 15) years

= (160 + 60) years = 220 years Sum of present ages of 6 members
=6 x40 = 240 years

-~ Sum of the present ages of children

=240-220 =20 years

“X+x+8=20
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=2x=20-8=12

X = 6 years

- Present age of older child

=6+ 8 =14 years

~ Required ratio=14: 6

=7:3

64.(1) 4 years ago, A’s age = 10 years, B’s age = 3x years
~ A’s present age

= (10x + 4) years

B’s present age = (3x + 4) years According to the question,

(10x+4 +8)/2—(3x+4 +8)

=3x+12—-(5x+6)=2
=3x+12-5x—-6=2

=5-2x=2

Xx=2

=~ B’s presentage =3x+4
=3x2+4=10vyears

65.(5) Bob’s present age = x years (let)
~ Abby’s present age

= (x + 8) years

According to the question,

After to the question, After 4 years
=(x+4)/(x+12)=4/5
=5x+20=4x+48

= 5x—4x =48 -20
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X = 28 years

66.(5) Total number of students in college A= 5x Total number of students in college B = 8x
In college B,

Boys = 5/8 x 8x = 5x

Boys who study commerce

= 5xx 60/100 = 3x

Boys in other streams

= 5x- 3x =2x

=~ 2x =800 x = 400

~ Total number of students in college A
=5x =5 x 400 = 2000
67.(3)A:B=3:4

A:C=1:2=3:6

~A:B:C=3:4:6

6 years hence,

3x+4x + 6x+18 =96
=13x=96-18=78

=x=78/13=6

~ A’s present age

=3x =18 years

68.(3) Let A’s present age be x years.

-~ B’s present age = (x+ 8) years C’s present age = (x+ 16) years After 12 years,
A’s age/ C’'s age = 5/9

=(x+12)/(x+ 16 + 12)

=5/9

=9x + 108 = 5x + 140
=9x—5x=140-108

=4x =32
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x=32/4=8

~ Sum of the present age of A, Band C
=X+x+8+x+16

=3x+24=3x8+24

=48 years

69.(5) According to the question,
B=A+3=A=B-3andB=C-3=C=B+3
Again, after 3 years, (B-3+3)/(B+3+3)=4/5
=B/B+6=4/5

=5B=4B+24

=5B-4B=24

=B=24

~A+B+C
=B-3+B+B+3
=3B=3x24=72years
70.(5) Ranjana’s present age
= 15x years

Rakhi’s present age = 17x years After 6 years,
(15x + 6)/(17x + 6) = 9/10
=153x + 54 =150x + 60
=153x—150x = 60 — 54
=3x=6

x=2

-~ Ranjana’s age after 6 years

=15x+ 6
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=(15x 2 + 6) years = 36 years

71.(5) 7 boys + 2 men

=3 boys + 3 men

=4 boys=1 man

-~ Required ratio =1: 4
72.(3)A:B=3:4

A:C=1:2

=3:6

~A:B:C=3:4:6

According to the question, After 6 years
Sum of ages of A, Band C=96
=3x+4x+6x+18 =96
=13x=96-18=78

=x=78/13=6

~ A’s present age = 3x

=3 x6=18 years

73.(3) Ram’s present age

= (4x + 4) years Sonu’s present age

= (9x + 4) years According to the question, 4x+4 +10=9x+ 4 - 10
=4x+14=14+6=5x=20

=x=4

~ Tina’s present age=4x + 14

=4 x4 +14=30vyears

74.(3) Let the first number be x and the second number bey.
X +y =1000/3% of y.

X +y =[1000/(3x% 1000)]y
x+y=10/3y3x+3y=10y 3x =7y

x/y=7/3=7:3
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75.(1) Let P’s share be 6x Q’s share be 19x and

R’s share be 7x.

Total sum = 6x + 19x + 7x=32x 6x : 19x + 200 : 7x — 200
=3:10:3

We can write 6x = 7x — 200 x = 200

=~ Total Sum = 32x = Rs. 6400

76.(5) Ratio of no. boys: Girls=2:3

Let the no. of boys = 2x Then the no. of girls = 3x
No. of boys after 20% increase

=1.20 x 2x = 2.4x.

No. of girls after 10% increase

=1.10x 3x =3.3x

Required ratio = 2.4x/3.3x

=8/11=8:11

77.(3)A:B=5:8

Let A’s income be 5x and B’s income be 8x According to question
(5x+25)/8x=5/4

=5(x+5)/4x2x=5/4

=(x+4)/2x=1

X+5=2xx=5

B’s income = 8x = 8 x 5 Rs. 40 lakhs

78.(4) Let the earnings of A and B Rs. 4x and 7x
respectively. After 50% of 4x

After 25% decrease

B’s earning = 75% of 7x

Ratio = 150% of 4x : 75% of 7x
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But their total earnings are unknown. Hence A’s earning’s can’t be known.
79.(2) Let the salaries of A, B and C be Rs. 2x, Rs. 3x and

5x respectively.

After respective increase of 15%, 10% and 20% their salaries will be
115 x 2x/100, 110 x 3x/100 and 120 x 5x/100

-~ Required ratio

=115 x 2x/100 : 110 x 3x/100 : 120 x 5x/100

=23:33:60

80.(5) Let the present age of Seema and Naresh be 5x and 7x years respectively.
According to the question,

(5x+5)/7x+5=%

=21x+15=20x+20

=x=20-15=5

~ Naresh’s present age

=7xyears =7 x5 =35 years

81.(3) (A + B)’s 1 day’s work = 1/15 (B + C)’s 1 day’s work = 1/20
(C+A)s1day’swork=1/30

On adding all three,

2 (A+B+C)’s1day’s work

=1/15+1/20+1/30

=(4+3+2)/60=9/60=3/20

~ (A+B+C)’s1day’s work = 3/40

~ A’s 1 day’s work =3/40—-1/20

=3-2/40=1/40

-~ Time taken by A = 40 day’s C 1 day’s work

=3/40-1/15

=(9-8)/120=1/120

-~ Time taken by C =120 days Required ratio
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=40:120
=1:3
82.(2) Let the original sum be Rs. X,

Sum of the ratios

=3+5+9+13=30

-~ C’s share = 9x /30 = 3x / A’s share = 3x/30 = 3x/10 According to the question 3x/10 — x/10 = 2412
=2x/10 = 2412

=x=2412 x5=Rs. 12060

~ Amount received by B and together

=Rs. (5+13)/30 x 12060 = Rs. 7236

83.(5) Let the present age of Khushi and Jagriti be 5x and 8x years respectively.
After 8 years,

5x+8/8x+8=%

= 24x + 24 = 20x + 32

=4x=32-24=8

=x=8/4=2

-~ Required difference

= (8x — 5x)years

=3x=3x2=6years

84.(3) Let the age of the mother and daughter be 7x and x years respectively.
- Four years ago, (7x—4)/(x—4) =19/1

=19x-76=7x-4

=12x=72=x=6

~ Mother’s age after four years

=7x+4=7x%x6+4=46years

85.(1) Let the original amount invested in Debits and Equity fund be 4x and 5x respectively.
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Dividend at the end of the year
=9x x 30/100 = 27x/10

Total investment after one year
=Rs. (9x + 27x/10) = Rs. (117x/10)
Total investment after one year

= Rs. [9x + (27x/10)] = Rs. (117x/10)
~7/13 x 117x/10

= 94500

=x = (94500 x 13 x 10)/(7 x 117)

=15000
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-~ The original amount invested in Equity funds = 5x

=5 x 75000

= Rs. 75000
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